HAMEREZ2E X (WE)
MEIFHH—BX

(SM7F4R18UE AHETHER)

EBERNEERR
BRI RR R




& B

- =R
a—4—] 3-FNo £ i YERL TRIFEMES FTRESE (ERENZBEECTEMESIC-12M4) . =
— | mE% i # Bfy 1 2 3 4 5 6 7 8 9 10 §
4001 [ B iR B fR ]
4002 TIR—BeniR & 1.0 13 99 2091 440/90=4.9 1/4.9=0.20A
3 |t e (o ) B0t 0% | RS 0.200] 11.200| _ 1.000 78KW X 0.1440/kW/h=11.23=11.20
4003 TIR—BeniR & 1.0 13 99 2092 440/90=4.9 1/4.9=0.20A
3 1Tt T R S (351 SR 813 25% | R 0.200| 11.200]  1.000 78KW X 0.1440/kW/h=11.23=11.20
4004 TILR—BeniR & 1.0 13 99 2093 440/90=4.9 1/4.9=0.20A
3 |15t o (o ) B0st 0% | RS 0.200] 14.400|  1.000 100kW X 0.1440/kW/h=14.4=14.40
4005 TIR—BeniR & 1.0 13 99 2094 440/90=4.9 1/4.9=0.20A
3 |ist o (i st e 25% | BERS 0.200| 14.400| 1.000 100kW < 0.1440/kW/h=14.4=14.40
4006 TIR—HBEniR & 1.0 13 99 2095 750/120=6.3 1/6.3=0.16 A
3 D1t Pt AR S (85 1 S8 B 0% s 0.160] 21900 1.000 152kW % 0.1440/kW/h=21.89=21.90
4007 TIR—HBEniR & 1.0 13 99 2096 750/120=6.3 1/6.3=0.16 A
3 D1t FHbH AR S (55T ) e 25% | B 0.160| 21900 1.000 152kW % 0.1440/kW/h=21.89=21.90
4008 TIR—HBEniR & 1.0 13 99 2098 770/120=6.4 1/6.4=0.16 A
3 1860 Uy BB AN B (S e | R 0.160| 18700 1000 130kW % 0.1440/kW/h=18.72=18.70
4009 |#1-8-3-50)| TILR—1BEiR & 1.0 13 99 2097 BEEE
3 3t THEHN A SR (S5 1 REHE(E) | B 1.000f 24.000 1.5680
4010 Ny IREEGLRE 1.0 13 99 2120 2 0—>%® 700/120=5.8 1/5.8=0. 17X
3 W0 28T RO iy Rxy A T e 1+ o | PR 0.170f 5.900 1.000 A41kWx 0. 1440/KW/h=b5.90=5. 900
4011 Ny IREESLRE 1.0 13 99 2121 2 0—>% 700/120=5.8 1/5.8=0. 17X
3 IO 28RO 2T BEH KA (351 SR 14108 el 0.170 5.900 1.000 41K 0. 1440/Kli/h=5. 80=5. 900
4012 Ny IRBESLRE 1.0 13 99 2122 2 0—>% 700/120=5.8 1/5.8=0. 17X
3 IR0 28T O 2T BEHH RS (351 oS 14255 el 0.170 5.900 1.000 41K 0. 1440/Kll/h=5. 80=5. 900
4014 Ny IRBESLRE 1.0 13 99 2422 2 0—>% 700/120=5.8 1/5.8=0. 17X
3 IO 45T RO 35 s KA (3 pesseqm) v 0% | PRI 0.170 8.600 1.000 60KW < 0. 1440/Kli/h=8. 64=8. 60
4015 Ny IREESLRE 1.0 13 99 3488 2 0—>%® 700/120=5.8 1/5.8=0. 17X
3 IR0 45T RO 35 s KA (3 pesmeqm) 1+ 10 | R 0.170 8.600 1.000 60KW 0. 1440/Kll/h=8. 64=8. 60
4016 Ny IREEGLRE 1.0 13 99 3489 2 0—>%® 700/120=5.8 1/5.8=0. 17X
3 RO 45T RO 35m) B A 550 (1 e o205 | TR 0.170] 8.600 1.000 B0KW 0. 1440/kW/h=8. 64=8. 60
4018 Ny IREELRE 1.0 13 99 2129 2 0—>% 700/120=5.8 1/5.8=0. 17X
3 |umosmmosrsmnasmnos s 04 | EER 0.170] 10.700| _ 1.000 74K 0. 1440/Kli/h=10. 66=10. 70
4019 Ny IREESLRE 1.0 13 99 2130 2 0—>% 700/120=5.8 1/5.8=0. 17X
3 L0, 0.5 e Akt 20 (5 k) +10% | R 0.170f 10.700 1.000 74K 0. 1440/Kli/h=10. 66=10. 7¢
4020 Ny IRBESLRE 1.0 13 99 2131 2 o0—>% 700/120=5.8 1/5.8=0. 17X
3 L0 (T 0.5 et Akt 20 (o k) ) 05 | R 0.170f 10.700 1.000 74K 0. T440/Kli/h=10. 66=10. 7¢
4022 Ny IREESLRE 1.0 13 99 2416 2 0—>%® 700/120=5.8 1/5.8=0. 17X
3 L0 S 0.6 S Ak s o s s o | SRS 0.170] 15000 1000 104kWx 0. 1440/kW/h=14. 97=15. 00
4023 Ny IRDBELRE 1.0 13 99 2952 2 0—>%® 700/120=5.8 1/5.8=0. 17X
3 WO ST RO.60) iy Ry (e 1o | PR 0.170] 15.000 1.000 104KW X 0. 1440/kW/h=14. 9715, 00
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4024 Ny IREESLRE 1.0 13 99 2950 2 0—>%® 700/120=5.8 1/5.8=0. 17X
3 IO BT RO, S A ST (3 1 () 14255 i 0.170] 15.000 1.000 104kW> 0. 1442/kW/h=14. 97=15. 00
4026 Ny IRBESLRE 1.0 13 99 21356 2 O0—>% 700/120=5.8 1/5.8=0.17 A
3 |umionmmomrmsrsmon a0 on | BER 0.170 16.700| _ 1.000 116kWx0.1440/kW/h=16.70516.70
4027 Ny IREESLRE 1.0 13 99 2136 2 O0—>% 700/120=5.8 1/5.8=0.17 A
3 LU 1 OrCT RO T S AR 60 (31 S BEAEAE) 4108 i 0.170] 16.700 1.000 116kWx0.1442/kW/h=16.70=16.70
4029 Nybke R R (n-5RL-020t8) | 1.0 13 99 2415 HO—584 L—> 700/120=5.8 1/58=0.17
3 L0450, 36m) [kt v AR S0 (25 1 RELEAE) | isaE] 0.170 8.600 1.000 ANBOKW x 0.1440/kW/h=8.64=8.60
4030 O011-4| Ny IR EERE (R -V EY) 1.0 13 99 2901 RA—JLE 610/110=55 1/5.5=0.18 A
3 LLIFO.45m(SEARO.35m)T HEHH 7 A S50 (55 2 50 AL A1) | =T 0.180| 13.000 1.000 90kW X 0.1440/kW/h=12.96=13.02
4031 PRI BERRER 10 13 99 | 2902 /6820 174 10N 0 1440/l /h=14.98=
3 UIB0 B AS0.60m). 7229t A S (31 e ) | H 0.170] 15.000 1.000 15.00
4032 R — L O—S B IR B 1.0 13 99 2903 520/110=4.7 1/47=021 A
3 | w091 Oty A (551 k) ) | RS 0.210| 7.900| 1.000 55kW > 0.1440/kW/h=7.9257.90
4033 R — L O—S B IR B 1.0 13 99 2158 520/110=4.7 1/47=021 A
3 |mt oy s s a1 ) | | BERS 0210 8900 1.000 62kW > 0.1440/kW/h=8.93=8.90
4034 Ry—ILO—5 EERRE 1.0 13 99 2159 520/110=4.7 1/47=021 A
3 |wES 1Ay A (o k) ) | RS 0.210| 9.100|  1.000 63kW > 0.1440/kW/h=9.07=9.10
4035 R — L O—S B IR B 1.0 13 99 2161 520/110=4.7 1/47=021 A
3 WIRT.5-1 7ol Bt AR SR (g o)) | BERS 0.210| 11.700] 1.000 81kWx0.1440/kW/h=11.66=11.7¢
4036 Ra— L O—S B IR & 1.0 13 99 2163 520/110=4.7 1/47=021 A
3 w19 odmir iy A (1 k) | BERS 0.210] 13.100]  1.000 91kWx0.1440/kW/h=13.10=13.10
4038 BTNy B iR E 1.0 14 99 2904 2914 830/140=5.9 1/59=017 A
4 |EEEE0tEIT B 0.170| 3.500| 1.000| 1.000 88kW < 0.0400/kW/h=35253.50
4039 BTNy BER iR E 1.0 14 99 2904 2915 830/140=5.9 1/59=017 A
4 |EEEEI0tEE B 0.170| 3.500| 1.000| 1.000 88kW < 0.0400/kW/h=35253.50
4040 BTNV BERiRE 1.0 14 99 2904 2916 830/140=5.9 1/59=017 A
4 |EEEE0tRE B 0.170| 3.500| 1.000| 1.000 88kW x0.0400/kW/h=35253.50
4042 BTNV BER iR E 1.0 14 99 2905 2914 830/140=5.9 1/59=017 A
4 |EHEB20tRIF(+25%) B RS 0.170| 3500/ 1.000| 1.000 88kW < 0.0400/kW/h=3.523.50
4043 BTNV BER iR E 1.0 14 99 2905 2915 830/140=5.9 1/59=017 A
4 |EsEE20tEE(+25%) et 0.170] 3500  1.000| 1000 88kW < 0.0400/kW/h=35253.50
4044 BTNV BER iR E 1.0 14 99 2905 2916 830/140=5.9 1/59=017 A
4 |EsEE20tRA(+25%) et 0.170] 3500  1.000|  1.000 88kW < 0.0400/kW/h=35253.50
4046 BTNV BER iR E 1.0 14 99 2906 2917 830/140=5.9 1/59=017 A
4 |EEEE40tEIT et 0.170| 5.400| 1.000| 1.000 135kWx0.0400/kW/h=5.40
4047 BTNV BER iR E 1.0 14 99 2906 2918 830/140=5.9 1/59=017 A
4 |EEEE4A0EE et 0.170| 5.400| 1.000| 1.000 135kWx0.0400/kW/h=5.40
4048 BTNV BER iR E 1.0 14 99 2906 2919 830/140=5.9 1/59=017 A
4 |EHEBLIOTE B RS 0.170| 5400/ 1.000] 1.000 135kW > 0.0400/kW /h=5.40
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4050 BTNy B 10 14 99 2907 | 2917 830/140=59 1/5.9=0.17A
4 | EHEBAOtEF(25Y%) R 0.170] 5400 1.000| 1.000 135kW % 0.0400/kW/h=5.40
4051 BTNy B 10 14 99 2907 | 2918 830/140=59 1/5.9=0.17A
4 |EsEE40tEE(+25%) R 0.170] 5400 1.000| 1.000 135kW % 0.0400/kW/h=5.40
4052 BTNy B 10 14 99 2907 | 2919 830/140=59 1/5.9=0.17 A
4 |EuEE40tRE(+25%) R 0.170] 5400 1.000| 1.000 135kW % 0.0400/kW/h=5.40
4054 P o 10 14 99 2908 | 2920 830/140=59 1/5.9=0.17 A
4 |mumEEe-TtET A 0.170] 6.600] 1.000| 1.000 165kW % 0.0400/kW/h=6.60
4055 BTNy B 10 14 99 2908 | 2921 830/140=59 1/5.9=0.17 A
4 |EEEE6-TIEE S 0.170| 6.600/ 1.000| 1.000 165k W x 0.0400/kW/h=6.60
4056 BTNy B 10 14 99 2908 | 2922 830/140=59 1/5.9=0.17 A
4 |HuEE6-TtRE A 0.170] 6.600] 1.000| 1.000 165kW % 0.0400/kW/h=6.60
4058 BTNy B 10 14 99 2909 | 2920 830/140=59 1/5.9=0.17A
4 |EmEse-TtRF(+25%) ! 0.170] 6600] 1.000| 1.000 165kW % 0.0400/kW/h=6.60
4059 BTNy B 10 14 99 2909 | 2921 830/140=59 1/5.9=0.17A
4 |mEmEse-TiaE(+25%) ! 0.170] 6600] 1.000| 1.000 165kW % 0.0400/kW/h=6.60
4060 BTNy B 10 14 99 2909 | 2922 830/140=59 1/5.9=0.17 A
4 |EmEse-TtRA(+25%) ! 0.170] 6600] 1.000| 1.000 165kW % 0.0400/kW/h=6.60
4062 BTNy B 10 14 99 2910 | 2923 830/140=59 1/5.9=0.17 A
4 EHEES0tRTF B 0.170] 7.200/ 1.000| 1.000 179kW > 0.0400/kW/h=7.16%7.20
4063 BTNy B 10 14 99 2910 | 2924 830/140=59 1/5.9=0.17 A
4 |M#@ESE0EE B | 0170] 7.200] 1.000] 1.000 179kW > 0.0400/kW/h=7.167.20
4064 BTNy B 10 14 99 2910 | 2925 830/140=59 1/5.9=0.17A
4 |EEBEES0TE A 0.170| 7.200| 1.000| 1.000 179kWx0.0400/kW/h=7.16=7.20
4066 BTNy B 10 14 99 2911 | 2923 830/140=59 1/5.9=0.17A
4 | EHEBS.0tEF(25%) R 0.170] 7200 1.000| 1.000 179kW % 0.0400/kW/h=7.16=7.20
4067 BTNy B 10 14 99 2911 | 2924 830/140=59 1/5.9=0.17A
4 |HEEBEOtHE(+25%) B | 0170] 7.200] 1.000] 1.000 179kW > 0.0400/kW/h=7.16=7.20
4068 P o 10 14 99 2911 | 2925 830/140=59 1/5.9=0.17A
4 |#BES8.0RR(+25%) g 0.170| 7.200{ 1.000{ 1.000 179kW X 0.0400/kW/h=7.16=7.20
4070 BTNy B 10 14 99 2912 | 2926 ®% 830/140=59 1/59=017A
4 |BEEEI00tRIT A 0170 9.800] 1.000| 1.000 246kW < 0.0400/kW/h=9.84=9.80
4071 BTNy B 10 14 99 2912 | 2927 ®% 830/140=59 1/59=017A
4 |BEEEI00(LE A 0170 9.800] 1.000| 1.000 246kW < 0.0400/kW/h=9.84=9.80
4072 BTNy B 10 14 99 2912 | 2928 ®% 830/140=59 1/59=017A
4 |EBEBI00ES A 0170 9.800] 1.000| 1.000 246kW < 0.0400/kW/h=9.84=9.80
4074 BTNy B 10 14 99 2913 | 2926 ®% 830/140=59 1/59=017A
s |mEEiotE 5% B 0170l ssool 1000l 1000 246kW x 0.0400,/kW/h=9.84=9.80
4075 BTNy B 10 14 99 2913 | 2927 ®% 830/140=59 1/59=017A
4 EEE S 10t (+25%) RS RS 0170 9.800 1.000 1.000 246kW x0.0400/kW/h=9.84=9.80
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4076 BTN BERE 1.0 14 99 2913 | 2928 ¥ 830/140=5.9 1/59=0.17A
4 |BBEBI0URE(+25%) RS 0.170| 9.800] 1.000| 1.000 246kW < 0.0400/kW/h=9.84=9.80
4078 | $£2-2-1(2)| /N R EE B BB SRR B 1.0 13 99 2476 23kW X 0.1140/kW/h=2.62=2.60 2.60X
3 |n-sREHEBOtECHES YY) = 0.970| 89.700| 2.180 6.9h=17.9=17.90
4079 |#2-2-1(2) /J\?%X%ﬁtiﬁ%%ﬁﬁiﬁ%' 0 1.0 4078 IR
1 In-SRESHEEA/CHESL VT) i
4080 | #£2-2-2(4)| NEHIEWRHEELRE 1.0 13 99 2981 116kW X 0.1142/kW/h=13.22=132 130 X
3 YO-STEBEB6UE, SEEERCHES V) = 0.970| 89.700|  2.180 6.9h=89.7=89.7¢
4081 | #£2-2-24)| FEMEMEBEGLRE 1.0 4080 -
1 I-SRBEREEBOH. 2RERCAEY YY) | R 6.900
4082 E—aTL— S BERE 1.0 2 13 99 3521
4 TL—RIE3 Tml HE i h A SRR (55 1 REAEAE) | i 0.190 0.190| 12.000 1.000
4085 |s1-8-1-50)|{RBIN— BERIRE 1.0 13 99 2486 BER - OUNAURE =S
3 T R ) (ISR AAN) IR, T/ SRR, B34t H 1.000] 15.000 1.860
4086 |s1-8-4-42)|{RBIN— BERIRE 1.0 13 99 2486 BER - OUNAURE =S
3 T R ) (SO RAAAN) IR, T/ SRR, B34t H 1.000] 17.000 1.600
4087 |#1-10-2D)| AV SR UT U EEGRE 1.0 1 100 2302 3kW x 0.3980/kW/h=1.19=1.20 1.20 %
3 |60-80kg:BézEERI5h/ B B 1.000|  6.000]  1.000 Sh=60 fEEHH
4088 |#£1-4-4(2)| 2/ BERE(ERET) 1.0 1 100 2488 EEEER
3 60-80kgiBrERI5h/ B B 1.000| 5.200] 1.380
4089 |#1-2-6(3)|{EBIO—SBERE 1.0 13 99 2486 EEEER
3 ewes smmmrmnmsnn o snsesen B 1.000| 15.000| 1.260
4091 [#£1-12-5(5)| PR EMEIEERE 1.0 99 2500 26kW x0.1590/kW/h=4.13=4.10 4.10%
2 THEHY AR R | o 83.5-3.7ni/h, 5.4h/B =] 22.100 1.000 5.4h=22.14=2210 1HEEE
4092 |#£1-5-6(3)| R EMIEERE 1.0 99 2501 39kW x 0.1590/kW /h=6.20=6.20 6.20 %
2 |THRER ) o E50n/h 45h/B| B 27.900|  1.000 45h=27.90=2790 fEEFH
4094 | #£4-4(5)|1EF WA 1.0 99 2391 22kW X 0.1910/kW /h=4.20
2 B E2.5m i 4.200 1.000
4096 | #1-2-15%) | BN EERE 1.0 2611 | 2399 1.3kW x 0.5000/kW /h=0.65=0.650
2 |B#®HyE—E265m 5] 1.400]  1.000 1/054=19 1.9x065=1.2351.20/H
4097 | #4-4(5)|[NSvoiEERE 1.0 14 99 2203 710/150=4.7 1/4.7=021A
3 EHESE4-45t A 0.210| 5500/ 1.000 137kWx0.0400/kW /h=5.48%5.50
4098 | oio-smanee| KT AT EAN 72— BEEE | 1.0 13 2 2934 99 1000
5 6~ 10tk =i 1.000| 1.500| 1.000| 26.000| 24.000
4099 | #5920 |HT—TINIL—BE iR E 1.0 1 99 2411 BEEHRE
3 TUYU441.0t =i 1.000|  6.000| 1.550
4100 BN BEEERE 1.0 2 14 99 2936 EBELE=1-8=01255013A/h
4 |=#@=t B 0.130| 0.160| 3.400| 1.000 BEF () =1+63=0156=016A/h
4101 05-11 [/NEBBER VT BEHRE 1.0 100 2938 EEEE
2 =i 7.600/  1.000
4102 | $£8-4-2(6)4)| swomosiaitss Okt T FEA - MECNDE) 1.0 13 99 2459 EH. BEEE
3 srsmmnomosmen sosw e wmoscrmonns s =i 0.680| 40.000] 1.000
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4103 | #£8-4-1(6)4)| /Ny BEnit ' OKE TR THBA- ) 1.0 13 99 2459 EH. iETEE
3 it 199 RO o B AEH, RO BCRROSITS, 2905, B 1.000f 65.000 1.160
4104 |#1-12-505)| KRBT —HBEHRE 1.0 13 99 2950 2284 U —MEEYIRYC L TEA (s EEE)
4 LTRO (RO 6r) 5 HA A 50 (35 | R 48) 1, 600-BOOKERE(+25%) i) 0.160 15.000 1.000 6.300 70—52 700/120=58 1/5.8=0.17A
4105 |#£1-5-708)| KBTI —HEBEEHRE 1.0 13 99 2426 2285 ~yO0—>% 700/120=5.8 1/5.8=0.17 A
R R =i 0.160] 15000/ 1.000|  6.300 104kW > 0.1442/kW/h=14.97=15.00
4106 |#£1-5-706)| KBTI —HEBEEHRE 1.0 13 99 2427 2285 ~yO0—>% 700/120=5.8 1/5.8=0.17 A
R R B .| 0.160] 15.000]  1.000|  6.300 104kW > 0.1442/kW/h=14.97=15.00
4107 [361-12:5(5)| T VU~ NERSBERE R 1.0 13 99 | 2187 | 2947 R e e 7
4 LT IR0 T3 S A3 O S 125, B 5610030 s 0.160( 16.700 1.000 6.300 /kW/h=16.70=16.70
4108 TIR—BeniR & 1.0 14 99 2085 440/90=4.9 1/4.9=0.20A
3 3t Tt RS (55 1 SO f) | 2188 0% R 0.190 4900 1.000 29kW x0.1440/kW/h=4.17=4.20
4109 Ny IRBESLRE 1.0 13 99 3492 yo0—>% 700/120=5.8 1/5.8=0.17A
3 |umomtrmosarmusmaonunu, nocon | BT 0.160] 15000/  1.000 104kWx0.1442/kW/h=14.97=15.00
4110 [02-20(3)15)|{BHEB /NI RIBERE 1.0 13 99 2416 2409 MABRET
4 |ummsmemsrmns ssanw missios | BSE] | 0160] 16000 1,000 1000 RERE
4111 |oto-sttr200s) | R4 — )L O— A EERIR & 1.0 13 99 2549 BRI EICEA
3 PR A AR (201 14E45340) . LLFET.3-1.4n =] 1.000| 44.000| 4.730 fREERE
4112 | #£1-6-22)| KB TL—hEEiRE 1.0 13 99 2134 2285 4~B—5% 700/120=5.8 1/5.8=0.17A
4 WIBO.8i(SERO.6n)0— ST Hhtiy AR S (SR 2 A ) 1 (+25%), 1300keiR ﬁFﬁﬁ 0.160 15.000 1.000 6.300 UEE BT A1 04k W X 0.1440/kW/h=14.97=15.00
4113 | 07-114@2) [/ Ny IR IEER IR B 1.0 13 99 2419 AR
3 LI, BT ARO. 6 i A0y B0 (52 R I ) | =] 0.900[ 72.000 1.000 fHEEE
4114 [#£5-5-28)4) [Nk B R 2 (EMER T, HA~) 1.0 13 99 2456 BEEEHE
3 THR AR B (2B ) )/~ 5 O BrCTARO.6m) =] 0.580] 39.000 0.790
4115 | #£5-5-2(8)4) [Ny BExfR B (EBEAT. A EAH) 1.0 13 99 2456 ETEEIE
3 b RS S (B2 S ) | 01— 5 RO BRSO 6 =] 0.900| 61.000 1.000
4116 |#£5-5-208)4)| /N iR B B (ABER T, Huiyl) 1.0 13 99 2456 BEEEHE
3 THRH AR B (B2 R ) ) /— 5 O BriEARO.6m) =] 1.000 68.000 1.000
4117 | #5-5-1(8)3) [ /N U R EELR B (ARG T) 1.0 13 99 2456 BEEEHE
3 TR AR A (52 B ) ) /— 5 WO BriARO .6 =] 0.580] 39.000 0.790
4118 | #5-5-1(8)3) |/ N\ R EER IR & (FAMATL) 1.0 13 99 2456 e EBIE
3 TR AR B (B2 B ) ) /— 5 WO BT ARO .6 =] 0.900| 61.000 1.000
4119 [#£8-9(6)6) [Ny IRVBEERE (KB T DSH%E) 1.0 13 99 2459 BEEEHE
3 L0 S FAHO.6m) /L — 20 B BEREE R Pt AN R (BSREA(N) ) E 1000 94000 1360
4120 | 3£8-9(6)6) |\ okyEig s (AR LOS>8AE-FE)| 1.0 13 99 2459 HEEE
3 L0 Sl FAHO.6m) /L — 20 B BEREE R Pt AN R (BRI ) E 1 OOO 1 04000 1 390
4121 [ #£8-9(6)6) [ /Ny IR VEEHRE (KB T OS5 E) 1.0 13 99 2459 BEEEHE
3 L0 Sl FAHO.6m)IL— 20 B BEREE R Pt AN R (BSREA(N) ) E 1000 78000 1260
4122 |#3-1-104) [Py —FERR & (&) 1.0 101 2544 BEEEHE
2 126MJ(30,100kcal) B 66.600 1.200
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— | mE% i # Bfy 1 2 3 4 5 6 7 8 9 10 §
4123 |#3-1-104) [P Tybe—BERIR & (85 55) 1.0 101 2544 BEEE

2 126MJ(30,100kcal) =] 54.720 1.200
4124 |#3-1-104) [Py —FERRE (IR 1.0 101 2544 BEEEHE
2 126MJ(30,100kcal) =] 72.360 1.200
4126 |[53-14-8(8)| /NIRRT B R & 1.0 13 99 2150 IEEEIE
3 oS LAt O 25O 2 1 T =] 1.000f 39.000 1.5660
4127 | st1-8-1-50)| /N IR BER R B 1.0 13 99 2432 IEEEIE
3 L, FE N EER BERER (HHR201458%)) LLFH0. E 1 OOO 1 07000 ‘] 640
4128 |oto-stir218)| /N IR EER IR 1.0 13 99 2550 TERBRNCEERS - ETYREL EEmE)IC
3 PSR S AR (201 A3 1 50— 5. LITHO 8 =l 1000| 107.000 1640 BH BEEE
4135 (= I)
4136 | 31-2-102) | BNt B (1 78) 100.0 4096 1
2 m2 0.140 0.140
4137 | 31-2-1(2) | BNt B (278) 100.0 4096 1
2 m2 0.320 0.320
4141 | #61-3-44) |\ RIBERE 1.0 13 99 2432 YEH| - R
T = 1.000| 65.000]  1.490 IERE
4142 | 3#61-3-4(4)| NI R BEIRE 1.0 13 99 2432 AU H)
R I = 1.000| 65.000] 1.520 IHEFH
4143 | $£1-3-4(4) [Ny RDEERE 1.0 13 99 2428 TR - FEA
[ S = 1.000| 58.000| 1.470 IHEFEH
4144 | $£1-3-4(4) [Ny RDBERE 1.0 13 99 2430 HEHI - FEA
[ B 1.000| 94.000] 1.420 IHEFEH
4145 | 4£1-3-4(4) [Ny ORI EERE 1.0 13 99 2430 FrUEH|
R P O N = 1.000| 94.000]  1.540 IHEFEH
4146 | $£1-3-4(4) [Ny ORDEERE 1.0 13 99 2428 FUEH|
8 o sonen surssmnnn s s B 1.000| 58.000| 1.450 IHEFH
4147 [ $£1-2-1(4) [BEHBRAR (BRAK) 100.0 4168 2
2 IS ey B AA S (2R () )P0~ T, RO 450 m2 0.800 0.030
4148 | $£1-2-1(4) [BEHBRAR (R AK) 100.0 4168 2
2 Sy B AAT S (2R () | /0T, RO 450 m2 1.010 0.040
4149 | #£1-2-1(4) [BEHBRAR (BBAK) 100.0 4168 2
2 ISy B AA S (2R () | /0T, RO 450 m2 1.220 0.050
4150 | #£1-2-1(4) [BEHBRAR (BRAK) 100.0 4166 2
2 ST THE AR B (B 2R EAAE) 1 /05, 0.8 m2 0.460 0.030
4151 [ #£1-2-1(4) [BEHBRAR (R AK) 100.0 4166 2
2 Sy DA TR AN B (DR IEAEAE) | /05T, 0.8 m2 0.580 0.040
4152 | #£1-2-1(4) [BEHBRAR (BB AK) 100.0 4166 2
2 Sy DA THE N AN B (DR IAEAE) | /05T, LF0.8m m2 0.700 0.050
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4154 | #£1-2-100) | B/ (158) 100.0 2 X0 X0 R $# 7tk e
1 m2 0.420
4155 [ #1-2-105)| &A1 (278) 100.0 2 SRR RE
1 m2 0.710
4157 02-2(1)| Ahimm rtE) % -WE: Rt mEt| 100 2
1 m3 4.200
4158 02-2(1) | A HIEHICBRIE) B3 EH -#A(DA 10.0 2
1 m3 6.000
4160 |#1-2-203)1) 1R ¥k B4 10.0 1 2 4168 1000
4 Sy B AAT S (2R () | /0T, RO 450 m3 0.630 0.420 3.300 9.000
4161 |#1-2-2(3)2) | 1B ¥k FEA 10.0 1 4168
2 S ey B AAT S (2R () | /0T, RO 45 m3 0.270 3.600
4163 |#£7-2-5(3)1)|BEKER - HE 10.0 24 1 2 4029 1000
5 G N A OB SRR 2, RO 45— ) m 0.090 0.100 0.150 1.500 4.000
4164 Ny R BERE 1.0 13 99 2416 ~yn—># 700/120=5.8 1/5.8=0.17A
3 o, R0 SR 6ol B KRB 5 0% s 0.170] 15000 1.000 104kW % 0.1440/kW/h=14.97=15.00
4165 INyHRBER R E 1.0 13 99 2951 ~n—>#% 700/120=5.8 1/5.8=0.17 A
3 |umosssmue semsmss i msnsen o | B 0.170| 15000 1.000 104kWx0.1442/kW/h=14.97=15.00
4166 INyHRBER R E 1.0 13 99 2132 ~n—=># 700/120=5.8 1/5.8=0.17 A
3 B0, 8ri T AR0.6r) it Ay oo 1+ o | RFRE] 0.170] 15.000 1.000 104kWx0.1440/kW/h=14.97=15.00
4167 INyHRBER R E 1.0 13 99 2120 ~n—># 700/120=5.8 1/5.8=0.17 A
3 LU0 28T A0.20m) A AR5 (52 R AL HA) 1+ 0% i=iE 0.170 5.900 1.000 41kW = 0.1440/kW/h=5.9%5.90
4168 INyHRBER R E 1.0 13 99 2123 ~n—># 700/120=5.8 1/5.8=0.17A
3 IR0 45T RO 35 st At (2 ek ) 1+ 0% | PRI 0.170 8.600 1.000 60kW x0.1440/kW/h=8.64=8.60
4169 Ny R BERE 1.0 13 99 2124 ~n—>#% 700/120=5.8 1/5.8=0.17 A
3 LU0 A5rTHRO.36m) Pt A0 (2R M) 1+ 10% e 0.170 8.600 1.000 B60kW > 0.1440/kW/h=8.64=8.60
4170 Ny R BERE 1.0 13 99 2125 ~yn—<># 700/120=5.8 1/5.8=0.17A
3 LU0 45T RO, 36 Bt A0 (2R AAEAR) 1+ 25% el 0.170 8.600 1.000 B60kW > 0.1440/kW/h=8.64=8.60
4172 |#£1-5-6()|BERIEY &AE(1)B 10.0 4105 2079
2 P — m3 0.820 0.010
4173 |#£1-5-6(1)[BRAIMY &E(I) 10.0 4105 2079
2 P — m3 1.020 0.010
4174 | #£1-5-6(1) BRI MY) FES 10.0 4106 2079
2 P — m3 1.350 0.050
4175 |#£1-5-6(1)[BRAIMmY BE(D) 10.0 4106 2079
2 P — m3 1.750 0.070
4176 | #£1-3-4(2)|AU0iEH B -ROE L -HEtELT - ME L 10.0 2 4146 MEZAEHRE
O — P—— m3 0.170 0.086
4177 | #£1-3-42)| FUIHEHI BR-FR-&E(IDA 10.0 2 4146 MEZAEHRE
O — p—— m3 0.250 0.115
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4178 | #£1-3-4(2)| A U0HEH B -ROE L -HEtELT - ME L 10.0 2 4145
2 R, (S R 3 ), OB ), L m3 0.110 0.043
4179 | #£1-3-42)| FUIHEHI BR-FR-&E(IDA 10.0 2 4145
2 R, (S R 3 RO, OB ), L m3 0.160 0.057
4180 |#£1-5-6(3)|BRAIHAT #&A(1)B 10.0 1 2 4092 2281 4165 1000
6 AR, WO 8T O G IR 5 35156 O ) m3 0.450 0.170 0.050 0.280 1.060 1.000
4181 |#£1-5-6Q)[BAIHY &AE(I) 10.0 1 2 4092 2281 4105 2079 1000
7 m3 0.590 0.250 0.090 0.380 1.110 0.010 1.000
4182 |#£1-5-6Q)[BBEILAY] HES 10.0 1 2 4092 2281 4106 2079 1000
7 m3 0.830 0.340 0.130 0.570 1.460 0.040 1.000
4183 |#£1-5-6Q)[BRAIHY BAE(D) 10.0 1 2 4092 2281 4106 2079 1000
7 m3 1.410 0.640 0.230 0.970 1.900 0.060 1.000
4184 | #£1-3-42)| A U0iEH B -ROE L -HEtELT -MELT 10 2 4142 MEZAEHRE
2 [Ep— m3 0.180 0.086
4185 |#£1-3-4(2)|FUIHEHI B¥R-FR-®E(IDA 10 2 4142 WEZREHRE
2 [Ep— m3 0.260 0.115
4186 H1-6-1 (xR R 10.0 4112 2079
2 B AR FR (P2 REHEE) ., WFF0.8 TAO0.6m), AR FL—71,300ke#k m3 2000 0020
4187 02-2(2)|AnmtoezL) »wEL et wEs | 100 2
1 m3 2.400
4188 02-2(2) | AhBL(EREL) B -FR-HE(1)A 10.0 2
1 m3 2.600
4189 |s1-8-1-5(1| BT EHL - FHE D 100.0 2 4127 4085 MEZAERE
3 s s £ v m3 0.200 1.020 1.020
4191 |#£1-8-1(5) | B EHL - FHE D 100.0 2 4002 BE
2 TIVR— 1 1Rt A S0 (5 1 AL HEA) | m3 0.300 0.380
4192 |#£1-8-1(5)| B EHL - FHE D 100.0 2 4004
2 TIVR— 1 SR ko A SR (55 1 AL AEA) | m3 0.300 0.440
4193 |#£1-8-1(5) | B EHL - FHE D 100.0 2 4006 10,000m3LL L
2 TIVR—HD VBTt A SR (5 1 AL AEA) | m3 0.300 0.620
4194 | orrwr s T B - FEED 1.0 4002 B
1 TIVR— 1 1Rt A S0 (5 1 JRALHEA) | m3 38.000 38m3/h
4195 | orrwr s T B - FEED 1.0 4004
1 TIVR— 1 SRt A SR (85 1 AL AEA) | m3 44.000 44m3/h
4196 | orrwr. s T AL - FEE D 1.0 4006 10,000m3LL £
1 TIVR—D VBTt A SR (85 1 AL HEA) | m3 62.000 62m3/h
4197 | 02-9()7 [ AAfE - MEL ML -HEL 10.0 4157 4225
m 1.800 4.240
4198 | 02-9(N7|AHHE BB -EA 10.0 4158 4225
2 m 1.800 4.240
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4199 | 02-9(N)7 | AHEIE #E(I)A 10.0 4158 4225

2 m 1.500 3.610
4200 | 02-9(1)1 [Hemufasg »-MEL L -MEL 10.0 4306 4225
2 /Syh0.28m3, HHH R H A (2RI AENE) m 1.800 4.240
4201 02-9(1)1 [#mAE B¥L-FR 10.0 4306 4225
2 /Sy h0.28m3 . HEHH R H (2 J AN m 1.800 4.240
4202 | 02-901 )1 [+mfalE #E(1)A 10.0 4306 4225
2 Sy HH0.28m3 . HEHH R H R (2 J AN m 1.500 3.610
4203 | 02-9(1 )1 [+&mfalE #&E(I)B 10.0 4306 4270 4226
3 78y 90.28m 3k, A AN HE (B2REEE) AR TL—HE1300keik m 1 200 1 200 31 60
4204 | 02-901)1 [#mAE #eE(D) 10.0 4306 4271 4226
3 78y 90.28m 3k, A AN R (B2REEE) AR TL—HE1300keik m 1 200 1 200 31 60
4205 | 02-901)1 [#mAIE TEE 10.0 4306 4272 4226
3 78y 90.28m 3k, A AN HR (B2REER) AR TL—HBE1300keik m 1 200 1 200 31 60
4206 | 02-9(1)1 |#mpE wE(l) 10.0 4306 4273 4226
3 78y 90.28m 3k, A AN R (B2REEE) AR TL—HBE1300keik m 1 200 1 200 31 60
4208 | 02-10(1)|XKME »-REL -HMEL-HELE| 100 4263 24 2
3 SypA0.8m3th, RRERET AN E (BIR L) m3 10.000 0.070 0.590
4209 | 02-10(1)|XKEIE BfR-FH-HE(DA 10.0 4264 24 2
3 SypA0.8m3th, RRERET - A T (BIR L) m3 10.000 0.070 0.590
4210 | 02-10(2)|KXfEIE &&&E(1)B 10.0 24 1 2 1000 4263 4270
6 0 B, R AR B RRR. XT R ke m3 0.190 0.510 0.650 0.900| 10.000f 10.000
4211 02-10(2) | K% &&(I) 10.0 24 1 2 1000 4263 4271
6 0, AR RS RRR), XT R 0 m3 0.190 0.510 0.650 0.900| 10.000f 10.000
4212 | 02-10(2) | KEIE +EE 10.0 24 1 2 1000 4263 4272
6 0 B, AR RS RRR). XT 0k m3 0.190 0.510 0.650 0.900| 10.000f 10.000
4213 | 02-10(2) | KEIE A 10.0 24 1 2 1000 4263 4273
6 0, R AR B RRR). XT 0 m3 0.190 0.510 0.650 0.900| 10.000f 10.000
4215 | 02-10(1) KBS ®-RbEL-¥aEL-#MEL | 100 4263 24 2
3 SypA0.8m3th, MRERET - A E (BIR L) m3 10.000 0.070 0.590
4216 | 02-10(1) KBS B -ER -BAE(IA 10.0 4264 24 2
3 SypA0.8m3th, MRERET - A T (BIR L) m3 10.000 0.070 0.590
4217 | 02-10(2) |k #&E(I)B 10.0 24 1 2 1000 4263 4270
6 0, AR RS RRR), XT R 0 m3 0.190 0.510 0.650 0.900| 10.000f 10.000
4218 | 02-10(2) [k #E(D) 10.0 24 1 2 1000 4263 4271
6 0 B, AR B RRR). XT e m3 0.190 0.510 0.650 0.900| 10.000f 10.000
4219 | 02-10(2)|/kEET wiEE 10.0 24 1 2 1000 4263 4272
6 0, R AR B RRR). XT 0 m3 0.190 0.510 0.650 0.900| 10.000f 10.000
4220 | 02-10(2) kB8 T A 10.0 24 1 2 1000 4263 4273
6 0 B, R AR BSRRR). XT 0 m3 0.190 0.510 0.650 0.900] 10.000f{ 10.000
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4222 02-11|#&HL 1.0 4004 2
2 TIVR— 1 SRt A SR (55 1 AL AEA) | m 0.020 0.120
4223 02-12| RpEyL 100.0 4004 2
2 TIVR— 1 SR ko A SR (55 1 AL AEA) | m 1.120 0.900
4225 | FH1-11-1 ntsmnnt »ome wes mme un 560808 100.0 24 2 FUmE
2 m2 0.700 5.900
4226 | FH1-11-1|xnwtzment wa(DB-wa(D-sme-me| 100.0 24 1 2 1000 FEUESE
4 m2 1.900 5.100 6.500 9.000
4228 | #H1-11-2|AhEL(EMER B-HEL 4L | 1000 24 2 4087
3 m2 0.800 4.300 0.800
4230 | #1-10-1(Y1LE@mBHIT #-WELT-#EL | 1000 24 2 4166 EEAEIYEIR
3 ISy 0.8, BEHH H R (852 JoH e ) m2 0.300 2.000 3.200
4231 | #£1-10-1 (UL EmERT BEL 100.0 24 2 4166 EEAEIYEIR
3 ISy HA IFR0.8m, BEHH H R S (852 Jo B ) m2 0.500 2.100 4.200
4232 | #£1-10-1|9LA@EERT S5 FTH-&A(1)A | 1000 24 2 4166 EEEIYELIR
3 ISy HA IFR0.8m, BEHH H R (552 Jo B ) m2 0.600 3.100 6.800
4234 | 02-14(1) |otsmepToamt e B-wut-wes | 100.0 24 2 4166 BE
3 ISy HA IFR0.8m, BEHH H R S (852 B () m2 0.050 0.300 3.200
4235 | 02-14(1)|(uLtEEmERTEEMLA LT BEL | 100.0 24 2 4166 BE
3 ISy HA IFR0.8m, BEHH H R (852 Jo B ) m2 0.080 0.320 4.200
4236 | 02-14(1)|otzmzpTosmt ) a5 56 &a(DA| 100.0 24 2 4166 BE
3 ISy HA 0.8, BEHHH R (852 S H e () m2 0.090 0.470 6.800
4238 | #£1-10-2 m+smepT@vnugr) »watwets | 100.0 24 2 4166 AL TRLRE £
3 JSyHA IR0.8m, BEHH H R S (552 JoH e ) m2 0.100 0.700 2.600
4239 | #£1-10-2 Bt EEER T (HIVERYER) BEL | 1000 24 2 4166 b TRl&E £
3 ISy oA 0.8, BEHH H R S (852 S B () m2 0.100 0.500 2.300
4241 | #£1-10-3 s+ MER B HEL s wat | 1000 24 2 4166
3 JNHA IFR0.8m, BEHH H R S (852 JH e () m2 0.400 0.900 4.000
4243 | 02-14(4) |RtrxmERT »-WEL-#MEL | 1000 24 2 4166 AL TRLRE £
3 Xy oA 0.8, B H RS (55 2R B ) m2 0.060 0.420 1.560
4244 | 02-14(4) | BT AEERT MEL 100.0 24 2 4166 AL TRLRE £
3 Xy 0.8, HE A RS (5 2R B ) m2 0.060 0.300 1.380
4245 #H4-6-1|EFFI -WEL 100.0 24 2 4087 1181
4 m2 0.500 4100 0.800] 340.000
4246 H4-6-1EFHI HMEL 100.0 24 2 4087 1181
4 m2 0.500 5.900 0.800] 340.000
4247 #4-6-1|HET(EZEREL) H-BEL | 1000 24 2 4087 1183
4 m2 0.500 5.000 0.800| 47.000
4248 H4-6-1|HEZT(EZHERL) ML 100.0 24 2 4087 1183
4 m2 0.500 6.300 0.800] 47.000
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4249 | #£4-6-1|HZT(BEZHEARY) B-BEL | 1000 24 2 4087 | 1183 | 1000
5 m2 0500| 5.000| 0800| 47.000] 4.000
4250 | #4-6-1|HZT(EZREAHY) kL 100.0 24 2 4087 | 1183 | 1000
5 m2 0500| 6.300] 0800 47.000| 4.000
4251 | #4-6-2|EZT(BZHEEL) 100.0 24 2 1183 | 1000
4 m2 0.600|  6.400] 100.000]  4.000
4252 | #4-6-2|BZT(BEZHEAHY) 100.0 24 2 1183 | 1000
4 m2 0.600|  6.400] 100.000|  8.000
4253 | #4-6-3|EET 100.0 24 2 1183
3 m 0.190| 1.890| 15.000
4258 | 05-10 |@®mT 1000 | 1262 | 1270 | 1269 | 2614 2
5 m2 0050| 0250| 0050] 16.000] 0.390
4259 | 05-11 |Z#k@aT 100.0 1 2 4101
3 m2 0.060| 0060|0060
4262 | 06-16(2) L EEBAMLEST 100.0 24 2 3839 | 1000 N
4 |EZo—n®) i830cm BadomEE | m 0210]  1.140| 30.000] 4.000
4263 |$£1-3-3(3)|MekiskiE B -oEL- ML BEL | 1000 | 4268 2
2 /3y 2R ILR0.8n, EERE R, A AN ER (HIREEME), MECL, g m 3 2 200 03 OO
4264 |$£1-3-33)|HHIERIE 21 FR-HE(1)A | 1000 | 4268 2
2 /3y 2R ILIR0.8n, EERE L, A AN ER (HIRBAEME), MECL, g m3 1 600 0300
4265 |$£1-3-3(3)|MekiskiE B -HEL ML BEL | 1000 | 4267 2
2 /3y 2R ILIR0. 45, BERED, PHHH AN ER (HIRAMME) MELL, B m3 1 500 0300
4266 |$£1-3-3(3)|[HHIERIE 21 FA-HE(1A | 1000 | 4267 2
2 /3y 2R ILIR0. 45, BERED, PHHH AN ER (HIRAMME), MELL, B m3 1 1 OO 0300
4267 |#1-3-4(4)| N BERE 10 13 99 | 2428 fEX L TORIET)EH
3 EEL, BERTY A AN EL E3REREE), 0-58, |LA0.45m3(FM0.35m3) E 1 OOO 58000 1 390 ¥EE$IE
4268 |#1-3-4(4)| NoURBERE 10 13 99 | 2430 fEX L TORIET)EH
3 L, BEREY - A AR ER (EIREREE), 0-5%, L0 8m3(FH0.6m3) E 1 OOO 94000 1 4’90 ¥EE$IE
4270 | 02-15(2)|#eMmipeiB( 1) HE(1)B 100 | 4105 | 2079 2 4353 ﬁl‘ﬁjgglij@m/—m“/\wﬁﬁﬁ‘é%
4 |osmensermsnsesne umomsaun sun oy | M3 0820 0010] 0030| 10.000 A=
4271 | 02-15(2) MBI 1) BeE (1) 100 | 4105 | 2079 2 4353 ﬁl‘ﬁ]@glii@”—m“/\w’ﬁﬁﬁ‘é%
4 |osmensermsnsssne umomaun sun oy | M3 1.020] 0.010] 0.030| 10.000 ==
4272 | 02-15(2) [#HiERIR( 1) higs 100 | 4106 | 2079 2 4354 ?Eﬁjggl:x@w—mm%%v%%
4 |osmensermsnosssne umomsaun sy | M3 1.350]  0.050| 0.030| 10.000 ==
4273 | 02-15(2)|#MmipeiB( 1) BECD) 100 | 4106 | 2079 2 4354 ﬁl‘ﬁjgglij@m/—m“/\wﬁﬁﬁ‘é%
4 |osmensersnsssne umomsaun sun oy | M3 1.750]  0.070] 0.030| 10.000 ==
4274 | 02-15(2) [#HiERIE(T) #E=(1)B 100 | 4105 | 2079 2 4353 REBT AR IL— A ANGLB &8
4 |osmen sersnsesne umomsaun sun oy | M3 1.590| 0.010| 0.030| 10.000 A
4275 | 02-15(2)|[#MERIE(T) #r= (1) 100 | 4105 | 2079 2 4353 BB AR IL— A ANGLB &8
4 |osmen sersnsssne umomsanun sun oy | M3 1.960] 0.010] 0.030] 10.000 A
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4276 | 02-15(2) [#mERIE(L) iEE 10.0 4106 2079 2 4354 EEIBERTIC KB TL— AN ANBRNBEITE
4 s . MO BTN 6, XBTL— PREL 00l m3 2.560 0.050 0.030] 10.000 B
4277 | 02-16(2) [#mipRiE(DT) A (1) 10.0 4106 2079 2 4354 EEIE RIS KB TL—ASANBRNBEISHE
4 s ) WG ERO . KB 1 300 m3 3.450 0.070 0.030] 10.000 A
4281 | #K1-1-2|BBEH LN H) 1.0 2
1 BiESUILET m3 0.150
4285 | 02-18(3)|B&ERMIEfET H=20cm 250.0 24 2 4166
3 Sy he0.8m 3R B R R (2 R AEAE) | m 0.200 0.600 2.600
4286 | 02-184) %) |BEERBIK T #BIRE ¢ 50mm(£EBE/K) | 100.0 24 2 2621
3 m 0.200 0.500[ 101.000
4288 |#1-12-3(1)|a V) — EUELT FEHH 10.0 24 2 4104 1000
4 OSTO r, 1557 3V ). XL RSO0 BN 250 m3 0.500 0.800 2.500 1.000
4289 |#1-12-3(1)|aP)— EUELT £/ 10.0 24 12 2 4104 1000
5 OSTO r, 1557 3V ). XL RSO0 0N 250 m3 0.600 0.700 1.700 4.900 4.000
4290 |#1-12-3(1) |3V P)—MEUBLT $EREKIR 10.0 24 12 2 4104 1000
5 OS5V ). XSO0 BN 250 m3 0.400 0.700 1.300 5.100 4.000
4291 |#1-12-3(2)|a9)— EUEL T 4EHH 10.0 24 1 2 2281 4091 1000
6 I 9)—hIL—H20kg#k m3 1.600 6.000 4.100 4.200 2.100 2.000
4292 |#1-12-3(2)|a9)— EUREL T ##5 10.0 24 1 12 2 2281 4091 1000
7 aV9)—hTIL—H20kg#k m3 2.600 9.400 0.700 6.900 5.800 2.900 2.000
4293 |#1-12-3(3)|aV)— EUEL T £EHH 10.0 24 2 4107
3 a9 —ERH56~100t m3 0.700 0.800 5.000
4294 |#1-12-33)|aV)— EUEL T £/ 10.0 24 12 2 4107 1000
5 29— ERH56~100t m3 0.700 0.700 1.300 5.000 3.000
4295 | #FH1-12-4 (Bl 7)) — IR T (575 - FA) 10.0 2 4022 Vr=3,600x0.59x0.30+-35=18.20=
2 7% IR0 8T O 6o Bt ASTSRES (B 1 St ) ) (57> TRl ) m3 0.400 1.820 1 8'2m3/h
4297 |02-20(3)7 [RAMRE L (£HE- A 10.0 24 2 3 4110 1000
5 o ; T ap— m3 0.060 0.190 0.010 0.600 4.000
4298 |02-20(3)7 [RAMRE L (£HE-F&A) 10.0 24 2 3 4110
4 o ; B a— m3 0.060 0.190 0.010 0.600
4299 |02-2003)1 [ABRE T (FEA) 10.0 4110 1000
2 RO ol A 31RO ) G TR ). 81 Ot m3 0.200] 12.000
4300 | wizsomoces | BT (EE) BIIL - #5EH (B/Et=5cm) 1.0 4312
1 /Sy 0. 28m8, IO~ SHEE -2 /ARSI~ At8E m3 20.000
43071 | wizon o moces | BB T (LFE) B0 - #HE D (B/Et=10cm) 1.0 4312
1 /Sy A IT0.28m8, IO~ SHEE -2 /ARSI~ AtSh m3 10.000
4302 | wion o moes | BB T (LE) $H9L- #HED (B/Et=20cm) 1.0 4312
1 /Sy A U0 28m8, IO~ SHEE -2 /A KA~ A8 m3 5.000
4303 | wizon s | BB T (FE) $19L- #HEH (B/Et=20cm) 1.0 4312
1 /Sy A 0 28m8, IO~ SHEE -2 /A KA~ AtSE m3 5.000
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#

- =R
a—+4—| 3-FNo % i 1ER FEEEMES  TRESH ERENZBEHICEEMmESC-12M43) . =
= | mau 8 1% B 1 2 3 4 5 6 7 8 9 10 .
4305 | 02-8(4)|/8yskimeneEss (NEEE T) 10 13 99 2953 R EE
3 lumsnosmnssim oo saspms smmoms | B 1000 40000| 1570
4306 | 02-8(4)|/SysRBiE UNEEE T) 320 | 4305 EEEE
1 |oasmmensmmsnm so o susmmsms wmommom | M3 1.000
4307 | 02-8(4)|5rEEEE (NS T) 10 1 100 | 2488 fEEEE
3 |60~80kg B 1000] 5000 1610
4308 | 02-8(2)|/wrkmEiE (NEEE T) 10.0 2 4305
2 |uummnosmninm oo sesmms usommom | M3 0300]  3.200
4309 | 02-8(3)|SyikHERELOMEBET) 10.0 2 4305 | 4307
3 T B 0700 4000| 3600
4310 | :43-15-2|t&+05T 100 | 981 | 2860 2 4308
4 PEE R, B £ 0568/m, 7Y h— A%/ K, KEET m 60.000| 240.000 1.770 0.900
4312 |#k1-2-6(1)|FORIBRAR T (i) BosL-wEw | 1000 | 24 2 4167 | 4089 A BIRE £
4 Sy A ILIE0.28m3, FEBO—3 BE- I URRI~ At m2 0.350 0.690 1.900 0.200
4317 (av4)—hT)
4318 |#7-10-23) AR BERET 1000 | 24 26 2 1000
4 |48 g G BRR) m2 4300 4700| 12.900| 54.000
4319 |#£7-10-3Q) | RB/NFIILREGFRBT 100.0 24 26 2 1000
4 |sruRresne m2 4000 5800| 20100 4000
4321 |#3-22)- ()| $EHMI (& 13mmLLT) 10 24 10 2 1000 | 2623 TS B EAEACERNEAIER
5 t 0.200] 1.100| 0700] 2000] 1.030
4322 |#3-22)- ()| $EFMI (& 16~25mLLT) 10 24 10 2 1000 | 2624 TS B EAEACERNEAIER
5 t 0200 0900| 0600] 2000] 1.030
4323 |#3-202)- ()| K5I ( b 29~32mm) 10 24 10 2 1000 | 2625 TS B EAEACERNEAIER
5 t 0.100] 0500] 0300] 2000] 1.030
4324 | #£3-2(3)|885%E 1T (& 13mLLT) 10 24 10 2 1000 TS B EAEACERNEAIER
4 t 0.400| 1800 1500 3.000
4325 | #£3-2(3)|885%8 1T (& 16~25mLLT) 10 24 10 2 1000 TS B EAEACERNEAIER
4 t 0.300| 1500/ 1.300] 3.000
4326 | #3-2(3)|$kR54811 (b 29~32mm) 10 24 10 2 1000 TS B EAEACERNEAIER
4 t 0200 0900| 0800 3.000
4327 $£3-2|$EFMT B3 (¢ 13mmELT) 10 | 4321 | 4324 &%
2 |SD345 D13mn ke |1000000/1000.000 TSR MM BEATERNEAISER
4328 $£3-2|$EINT 4837 (¢ 16~25mm) 10 | 4322 | 4325 &%
2 |sD345 D16-25mn ke |1000000/1000.000 TSR MM BEATIRNEAISER
4329 $£3-2 | $5EINT - 4837 (¢ 29~32mm) 10 | 4323 | 4326 &%
2 |sD345 D29-32mm ke |1000000|1000.000 TSR MM BEATERNEAISER
4331 | w5100 IR B BEA (FRI7LLE t=10mm) | 10.0 24 2 524 HEHEE K=10x (140.12)=11.2
3 m2 0220 0760 11.200




& B

a—4—| 3-kNo % L fEmL FREEMES TRESH GERENSSERCEEMESIC-1Z649)
T+ | =e% 38 # By 1 2 3 4 5 6 7 8 9 10 L
4332 | ss-190)1)- 4| f#E B HEUA (T LREH4 t=10mm) 10.0 24 2 526 FMEHEIE K=10x (1+0.12)=11.2
3 m2 0.220 0.760] 11.200
4333 | ss-19)1)-(0)| R #E B HERAT (KBS RSB 4K t=10mm) 10.0 24 2 527 BE
3 m2 02201 0760l 11200 MEHEE K=10x (1+0.12)=11.2
4335 |#£1-3-4()[1L W-BEL-MMLT-HEL 100.0 4143
1 {E R IO, T8 10000m3A S, SIROHE By, BEEL m3 0.763
4336 |#£1-3-4()[01L BB| EFRH-HE(IA 100.0 4143
1 {EHR) IO, T8 10000m3AH, SIROHE HY. WEEL m3 1.020
4337 |#£1-3-4()[01L B-BEL-MMLT-HEL 100.0 4144
1 {ERTER) ML), 5T+ B :10.000m3%H, MIEOARE: HL. MELL m3 0.439
4338 |#£1-3-4(N)[01L BH| ERH-HE(IA 100.0 4144
1 {ERTER) O], 5T+ B :10.000m3%H, MEOARE: SL. MELL m3 0.588
4339 |#£1-3-4()[1L W-BEL-MMELT-HEL 100.0 4143
1 A o, 5T B 10000N3 £SO, RO . BEL m3 0.649
4340 |#£1-3-4()[01L BB| FRH-HE(IA 100.0 4143
1 A Lo, 5T B 100N E5O00ONORE, BT 3, BEL m3 0.870
4341 |#£1-3-4()[01L B-REL-MMLT-BEL 100.0 4144
1 s o, BT B 100003 E5O00GNORE, RO L R m3 0.375
4342 |#£1-3-4(N)[01L BB|-FRH-HE(IA 100.0 4144
1 s o, BT B 10000n3 E5O00GNORE, RO L EEEL m3 0.500
4343 |#£1-3-4()[01L B-BEL-MMLT-HEL 100.0 4143
1 HERTBH): L OBHIBGA FET 8 10000m3 M, HIROHS: by, FELL m3 0.893
4344 |#£1-3-4(N)[01L BB|-FER-HE(IA 100.0 4143
1 HERTBH): L OBHIBGA FET 8 10000m3 M, HIROHS: by, FELL m3 1.190
4345 |#£1-3-4()[01L B-BEL-MMLT-HEL 100.0 4144
1 HERTBH): HUOBHITHA, BT+ 8 :10000m3%M, HIROHS: AL, FELL m3 0513
4346 |#£1-3-4()[01L BB EFRH-HE(IA 100.0 4144
1 HERTBH): U OBHITHA, BT+ 8 10000m3%M, HIROHR: AL, FELL m3 0.684
4347 |#£1-3-4()[01L B-ROEL MM -HEL 100.0 4143
1 g m3 0.758
4348 |#£1-3-4(N)[01L BB| FRH-HE(IA 100.0 4143
1 g m3 1.020
4349 |#£1-3-4()[1L B-BEL-MMLT-HEL 100.0 4144
1 s somn T 00onss ES0t0ns . MEDER L BB m3 0.437
4350 |#£1-3-4()[01L BH| EFRH-HE(IA 100.0 4144
1 s somnE 8 00onss ES0t0nse . MEOER L BB m3 0.585
4351 |#£1-3-4()[01L B-BEL-MMLT-HEL 100.0 4143
1 s R ROR, TR 10000MGRE, MROHS ), BEEL m3 0.820
4352 (#£1-3-4()|U1L BB ER WS 100.0 4143
1 s —xusmom. TR 10000mRE, MROHS Y BEEL m3 1.064




5

#

a2—+—] 3-FNo £ i YEBL FREBEMES FERESH GERENSEBEBCEEMEBSC-1264Y)
= | max 3 #® BifT 1 2 3 4 5 6 7 8 9 10 "
4353 |#£1-3-4(1)(U1 #W-REL-ML-HEL 100.0 4144
1 AR TR 00009, WEOHE L B m3 0.474
4354 |#£1-3-4N)[U1L BB ERH-HEE 100.0 4144
1 AR EOR TR 100009 WEOHE L B m3 0.617
4355 |#£1-3-4(1)(U1 #W-REL-MEL-EEL 100.0 4143
1 s coa, £ 0000 sonone e mEo 8 L m3 0.699
4356 |#£1-3-4(1)[U1L HR-ERH -HEE 100.0 4143
1 s oa, £ 0000 sonone im0 L m3 0.909
4357 |#£1-3-4N)(U1 #W-RmEL ML -EEL 100.0 4144
1 s oa, s 000 sonone s pEOR L EEL m3 0.403
4358 |#£1-3-4(1)[U1L HR-ERH -HEE 100.0 4144
1 s o, s 000 sonone s MO L EEL m3 0.526
4359 |#£1-3-4(1)|[U1: W-REL-HMEL-EEL 100.0 4141
1 ERIER: L OIEH), HET + 8 :5,000m3kiE, HIROAE: — BELL m3 1 031
4360 |#£1-3-4()|[U1L B -ER -HE(IHA 100.0 4141
1 ST O, T 850003k, RO — BEBL m3 1.370
4361 |#£1-3-4(1)|[01+ #-WEL- ML -HEL 100.0 4141
1 ERTEH) LM BHA, T+ 8 :5,000m3%kiE, HROHE: — BWELL m3 1 205
4362 |#£1-3-4()|[U1L B -ER-HE(IA 100.0 4141
1 ERTEH) L OEHIBHA, ST+ 8 :5,000m3%kiE, HROHE: — BWELL m3 1 61 3
4363 |#£1-3-4(1)|[U1+ #-REL ML -BEL 100.0 4141
1 Sk SO, T 8 5000, WROHE:— mEL m3 1.111
4364 |#£1-3-4()[U1L B -ER-HE(IA 100.0 4141
1 AR EORARA, T 85 000msA . MROHE: — HEEL m3 1.429
4369 CERI(OKEI))
4370 | 05-1(8)7 [ RUEK#IEF ¢ 30cmA 1.0 2 2867
2 & 0.060 1.000
4371 | 05-1(8)7 [RUEK#IEM ¢ 40cmA 1.0 2 2868
2 & 0.090 1.000
4373 | JA3-15-2|HEELDSKET 10.0 981 2860 2
3 AR EE IR R AR m 100.000| 400.000 2.650
4374 | 3A3-15-3|3RZ/KET 10.0 3839 1217 2
3 EZER m 15.000] 420.000 1.010
4376 05-2(1) |3 4")—rEAZE T (300 x 350mm) 1.0 24 2 2983 1000 ERMAED
4 MEE EEE Bl EHED m 0.040 0.150 0.070 4.000
4377 05-2(1) |3 4")—rEAZE T (400 x 450mm) 1.0 24 2 2983 1000 ERMAED
4 MEE EEE Bl EHED m 0.050 0.190 0.100 4.000
4378 05-2(1) [z 4)—rEAZE T (500 x 550mm) 1.0 24 2 2983 1000 ERMAED
4 MEE EEE Bl EHED m 0.060 0.240 0.130 4.000




Y
H B — B *
a—+4—] 2-FNo £ i YEBL FREBEMES FERESH GERENSEBEBCEEMEBSC-1264Y) . =
— | mE% # # B 1 2 3 4 5 6 7 8 9 10 5
4380 | 02-14(1)|otsmeproamt cd) B Brt-kts | 100.0 24 2 4168 HEFRERE
3 ST WRO AECE IR0 S5 Fh it AR B (2RI | m2 0.050 0.300 4.300
4381 02-14(MM (UL xEERTGEEML L) BEL | 1000 24 2 4168 MEZREHRE
3 S04SR0 S5 St AR B (2RI | m2 0.080 0.320 5.600
4382 | 02-14(1)|otsmeproaat ) sn E6 %a(DA| 100.0 24 2 4168 MEFRERE
3 ST WRO 4SO S5 Hh it AR B (2RI | m2 0.090 0.470 8.200
4384 | #£1-10-2|mtsmepTumven »pat gt | 100.0 24 2 4168 MEZAEHRE. KIEIRRE L
3 S04SR0 S5 Hh it AR B (2R IEAAN) | m2 0.100 0.700 3.500
4385 | #£1-10-2|BLrEBHI(MVEVER) BE+ | 1000 24 2 4168 MEFRERE. RIETH®RE L
3 YDA WO 4SO S5 St AR B (2RI | m2 0.100 0.500 3.100
4390 |[s53-14-8(8)[/\wREErfR & 1.0 13 99 2150 IEEEE
3 5 et Wik 2 O 20 B T =] 1.000| 37.000 1.580
4391 [:43-14-8(2)|ARIRIUEHEIRA U-400(p 400mmAl) 10.0 24 1 2 3392 4390 1000
6 ARRUFERR U-400(p 400mma) m 0.410 0.410 0.820| 10.000 0.410 0.400
4396 (BT -HETE)
4397 H5-5-1|ERBRAT 155.0 24 1 2 4117 1000 MAEHFEIE+20%
5 y — [ — m2 0.600 1.100 2.900 1.000 0.700
4398 H5-5-1|EBERAET 108.5 24 1 2 4117 1000 B %7 T8 1565m2 X 0.7=108.5m2, A £HEE
5 , o [ B 117 0600 1.100] 2.900| 1.000] 0.700 +20%L200mE A S100.TERL ]
4399 #5-5-1|ZEARET 38.0 24 1 2 4118 1000 MAEHFEIE+20%
5 bt AR DB R) |- /- SO SO b, 8B m3 0.700 1.300 3.300 1.000 0.700
4401 H5-5-2 | EHERT (L) 161.0 24 1 2 4116 1000 HHLE30cmE T, MEHHE14%
5 TR A B (52 ) | /01— 5B WO B(FARO.6m) m2 0.700 1.200 3.400 1.000 0.600
4402 H5-5-2 | EHERT () 100.0 24 1 2 4114 1000 HARE30emET, MEHHEIE+14%
5 THRH AR B (B2 R ) ) /— 5 WO BriTARO.6m) m2 0.900 1.200 3.100 1.000 0.600
4403 H5-5-2|BAERT (hEAH) 310 24 1 2 4115 1000 MAEFEIE+14%
5 THb A B (52 R E) | /01— 5B WO Bri(FEAO.6m) m3 0.700 1.300 3.300 1.000 0.600
4404 H#5-5-2|BAERT (FIT) 10.0 2 1000 MAEFEIE+14%
2 m3 6.700 0.700
4406 |#5-7(3)1) SRR THAT 1.0 399 24 2 2563 BE
4 ST L T A B R B TR 161 t 1.000 0.200 1.600 0.060
4407 | #£5-7(3)1) |[SAEZTHET 1.0 399 24 2 4109
4 Sy, DT SR AT 3515 RO SO 612 1 t 1.000 0.150 1.180 1.590
4408 | 3£5-7(3)2)|SARB TR 1.0 2
1 ANET (MEERI®R) m3 0.300
4409 |#5-7(3)2) [SAEZTHER 1.0 2 4164 B
2 D5 T b AR O BT RO ). AR G B 3) m3 0.100 0.200
4410 [#£5-7(3)3)|THF R/SURASILERAF 10.0 942 2 EHSH L
2 XS—43(AyFIT&H) m2 10.000 0.200
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#

2-FNo

% [

fEmL

FREEMES TRESH GERENSSERCEEMESIC-1Z649)

I | max E 1% B 1 2 3 4 5 6 7 8 9 10 "
4412 3£5-8| SR E A BH LA - BEAE T 1.0 24 2
2 ANET (MEERI®R) t 0.400 3.600
4413 3£5-8| SR E A BH LA - BEAE T 1.0 24 2 2983
3 BT (MR ZERI®R) t 0.300 2.200 0.100
4415 | 3£5-9-2(4)| &M@ RVO—FEEE 111.0 24 5
2 2.6mm X 50mm X 50mm m2 1.000 7.000
4416 | 3t5-9-204)| &M@ R VO—FHE 94.0 24 5
2 3.2mm X 50mm X 50mm m2 1.000 7.000
4417 | 35-9-2(4)| &M@ R VO—FEE 79.0 24 5
2 4.0mm X 50mm X 50mm m2 1.000 7.000
4418 | 35-9-2(4)| &M@ R VO—FHE 63.0 24 5
2 5.0mm X 50mm X 50mm m2 1.000 7.000
4420 |3£5-9-2(4) Moy IL—VEMEF L 111.0 2983
1 2.6mm(20mK3%) m2 0.400
4421 | #£5-9-2(4)|Z7TL—IL—2EMEF L 111.0 2564
1 2.6mm(20m L4+ 35mAETE) m2 0.400
4422 |#£5-9-2(4)|Z7TL—2IL—2EME L 111.0 2566
1 2.6mm(35mLL E45mELTR) m2 0.400
4424 | 3£5-9-2(4) Moy IL—V EMEF L 94.0 2983
1 3.2mm(20mK3%) m2 0.400
4425 |$£5-9-2(4)|Z7TFL—IL—2EME L 94.0 2564
1 3.2mm(20m L+ 35mAE ) m2 0.400
4426 |#£5-9-2(4)|Z7TL—2IL—2EME L 94.0 2566
1 3.2mm(35mLL E45mELTR) m2 0.400
4428 | 3£5-9-2(4) Moy IL—V EMEF L 79.0 2983
1 4.0mm(20mK i) m2 0.400
4429 |#£5-9-2(4)|Z7TFL—2IL—VEMEB L 79.0 2564
1 4.0mm(20mLEL_F35maE ) m2 0.400
4430 |#£5-9-2(4)|Z7TL—IL—2EME L 79.0 2566
1 4.0mm(35mEL E45mELT) m2 0.400
4432 | 35-9-2(4) Moy IL—V EMEF L 63.0 2983
1 5.0mm(20mzK ) m2 0.400
4433 |#£5-9-2(4)|Z7TL—2IL—VEMEB L 63.0 2564
1 5.0mm(20mEL E35mAE ) m2 0.400
4434 | $£5-9-2(4)|ZTTFL—IL—VEME L 63.0 2566
1 5.0mm(35mLL E45mELTR) m2 0.400
4436 |35-9-24)|BEHT—TIIL—VEME L 111.0 4099
1 2.6mm X 50mm X 50mm m2 1.000
4437 | 3#5-9-24)|BEHT—TIIL—VEME L 94.0 4099
1 3.2mm X 50mm X 50mm m2 1.000
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#

- =R
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= | mau i 1% B 1 2 3 4 5 6 7 8 9 10 .
4438 |#5-9-20) BT —TINIL—2EMEFB L 79.0 4099
1 4.0mm X 50mm X 50mm m2 1.000
4439 | #5-9-20) ST —TINIL—2EMEF L 63.0 4099
1 5.0mm X 50mm X 50mm m2 1.000
4441 06-7(2)|L—T7 v h—EKE 13.0 5 1000
2 ki das 7N 5.000] 11.000
44472 06-7(2) | BMRAT7 > H—3%E 24.0 5
1 THHA 7N 5.000
4443 | 35-9-2(5) (M TV H—E%E 13.0 5
1 THHA #2 5.000
4444 06-7(2)|TR7Vh—KE 22.0 5
1 THHA 7N 5.000
4445 06-7(2)|Ev 7o h—%E 125.0 5
1 THHA 7N 5.000
4446 | $£5-9-2(6)|av ) T U H—KE 1.0 5 2
2 m3 1.000 0.400
4448 | #5-9-2))| Ry AE (EAR) 1.0 5
1 HLUEAH ZN 0.900
4449 | #5-9-2))| R YN AE (AR) 1.0 2
1 Bt m3 0.400
4450 | #5-9-2(7)2)| Ry i (GEA ) FE HI 1.0 5 1000
2 A (1)B, #&A) m3 2.500] 10.000
4451 | #5-9-21)2) | R v AT GEA ) JEHI 1.0 5
1 T m3 1.000
4452 | $£5-9-2(8)| R yhZiE(EVPR) 6.0 5 1000
2 HERT7VH—HRE #H 5.000] 11.000
4453 | $#£5-9-2(9)| R wbZAE(EV D R) 1.0 5 2
2 TWART7VH—FRE m3 1.000 0.400
4454 |#5-9-2010) [ R wbEHE(EV U R) 20.0 24 5
2 LA ing! 1.000 6.000
4456 | s5-9-28#)| BT —TINIL—VREBERHE 1.0 6 2 1000
3 = 20.000] 20.000 8.000
4458 | #FH5-11(1)[ZFR/NURAZLIERET 10.0 24 2 4087
3 ANMET BEEEERGWO6 m2 0.050 2.110 0.160
4459 | FH5-11(1)|[ZFR/NURAZLIERET 10.0 24 2 4087
3 ANMET BEEEERGWO9 m2 0.050 2.850 0.240
4460 | FH5-1T1(1)|[ZFR/NURAZLIERET 10.0 24 2 4087
3 ANMET BEEEERGW12 m2 0.050 3.5690 0.320
4461 | FH5-1T1(1)|[ZFR/NURARLIERET 10.0 24 2 4087
3 ADET HBEEEGW06 m2 0.100 2440 0.160




s B - B =

a—+4—] 2-FNo £ i YEBL FREBEMES FERESH GERENSEBEBCEEMEBSC-1264Y) .
— | mE% # # B 1 2 3 4 5 6 7 8 9 10 5
4462 |H5-11()|TFR/SURAZILEEEET 10.0 24 2 4087

3 ANMET EBEERGWO09 m2 0.100 3.180 0.240
4463 |H5-11(1)|TFR/SURAZILEEEET 10.0 24 2 4087
3 ANMET HEBERGWI12 m2 0.100 3.820 0.320
4465 |H5-11(2)|TFR/SURAZILEEEET 10.0 24 2 4166 4087
4 BT HEEEERGWO6 m2 0.050 1.370 0.150 0.160
4466 |H5-11(2)|TFR/SURAZILEEEET 10.0 24 2 4166 4087
4 BT HEEEERGWO9 m2 0.050 1.740 0.230 0.240
4467 |HE5-11(2)|TFR/SURAZILEEEET 10.0 24 2 4166 4087
4 BT HEEEERGWI2 m2 0.050 2.110 0.300 0.320
4468 |H5-11(2)|TFR/SURAZILEEEET 10.0 24 2 4166 4087
4 BT EEEIGWO06 m2 0.100 1.700 0.150 0.160
4469 |H5-11(2)|TFR/SURAZILEEEET 10.0 24 2 4166 4087
4 BT EEEEIGWO09 m2 0.100 2.070 0.230 0.240
4470 |H5-11(2)|TFR/SURAZILEEEET 10.0 24 2 4166 4087
4 BT EBREIGWI2 m2 0.100 2.340 0.300 0.320
4472 06-11(4H)D|CenIHE (MTRE45cm) 10.0 24 1 2 878 4022
5 YO ) 0 O RO, TR S m 0.080 0.240 0.400|{ 10.000 1.000
4473 |06-11(4H)D|CemnIHE (MTRE60cm) 10.0 24 1 2 881 4022
5 YO ) RO RO, T2 TS m 0.140 0.420 0.700| 10.000 1.800
4474 106-11(4)D|LE4TITA 10.0 2 2629 2633 2635
4 HAEXOIemEL.5m ZN 0.600 0.120] 15.000f 15.000
4478 |06-11(15) [ 4r4smAHSETM#8(4mm)4EE 13cm) 1.0 2870 24 1 2 4022
5 P R AT 1.000 0.010 0.010 0.040 0.060
4479 |06-11(15) [sMr4smAFSETM#8(4mm)4EE 13cm) 1.0 2871 24 1 2 4022
5 P T —" AT 1.000 0.010 0.020 0.070 0.110
4480 |06-11(15) oMk kR4 FFEL M#6(5mm)4EE 13cm) 1.0 2872 2 4022
3 P 31 1005 200X SO HAAH S £ AT 1.000 0.080 0.050
4481 |06-11(15) [sMrssR kR4 FFELT M#6(5mm)4EE 13cm) 1.0 2873 2 4022
3 saan, 00xm0x — AT 1.000 0.150 0.100
4483 | #5-17-1(6) | KB AEAMTTA(H8mm, ¢ 16mm) 1.0 24 2 2875 4029
4 1@ 130m, 2510 x 1.6 X £2 0m(i 2 85m3/ £ B1:%) ZN 0.120 0.930 1.000 1.440
4484 | 3£5-17-1(6) | KB AEAMTTA(H8mm, 5 ¢ 16mm) 1.0 24 2 2876 4029
4 1@ 130m, 1.0 x 1.6 X £3 0m(i5H4.28m3/ £ B1%) ZN 0.180 1.400 1.000 2.160
4485 | #£5-17-1(6) | KB AELANTTA(H8mm, ¢ 16mm) 1.0 24 2 2877 4029
4 4@ 130m, 210X 1.6 X £4 0m(3H5.70m3/ £ B1:%) ZN 0.240 1.860 1.000 2.880
4486 |#5-17-1(6) | KB AELAMNTTA(H8mm, EH ¢ 16mm) 1.0 24 2 2878 4029
4 {8 130m. 210 X 1.6 X £5 0m(G&H7.13m3/ £ B1%) ZN 0.300 2.330 1.000 3.600
4487 | #5-17-1(6) | KB AEAMNTTA(H8mm, ¢ 16mm) 1.0 24 2 2879 4029
4 1@ 130m, 21,0 x 2.0 X £2 0m(353.80m3/ £ B1:%) Z:N 0.160 1.240 1.000 1.920
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4488 |#£5-17-1(6) [ KB ALANTTA(H8mm, £ ¢ 16mm) 1.0 24 2 2880 4029
4 BE 130m. 551.0 X 182.0 X £3.0m(EAH5.70m3/AMR) ZN 0.240 1.860 1.000 2.880

4489 | #£5-17-1(6) [ KB ALANTTA(H8mm, £ ¢ 16mm) 1.0 24 2 2881 4029
4 BE 130m. 151.0 X 182.0 X £4.0m(EH7.60m3/AMR) ZN 0.320 2.480 1.000 3.840

4490 [ #£5-17-1(6) [ KB ALAMNTTA(H8mm, £ ¢ 16mm) 1.0 24 2 2882 4029
4 BE 130m. 551.0 X 182.0 X £5.0m(EH9.50m3/ABR) ZN 0.400 3.100 1.000 4.800

4491 | #5-17-2(6) | KB ALANTIB( ¢ 8mm, E45 ¢ 16mm) 1.0 24 2 2875 4014
4 BE 130, 51,0 X 1815 X £2.0m(AH2.85m3/AMR) ZN 0.210 1.410 1.000 2.280

4492 | #5-17-2(6) | KB ALANTIB(¢8mm, E45 ¢ 16mm) 1.0 24 2 2876 4014
4 E 130, 510X 1815 X £30m(EH4.28m3/ABR) ZN 0.320 2.120 1.000 3.420

4493 | #5-17-2(6) | KB ALANTIB(¢8mm, E45 ¢ 16mm) 1.0 24 2 2877 4014
4 BE 130, 55 1.0 X 1815 X £4.0m(EH5.70m3/AMR) ZN 0.420 2.820 1.000 4560

4494 | #£5-17-2(6) | KB ALANTIB( ¢ 8mm, E45 ¢ 16mm) 1.0 24 2 2878 4014
4 E 130, 510X 815X £50m(EAT.13m3/AMR) ZN 0.530 3.630 1.000 5.700

4495 | #£5-17-2(6) | KB ALANTIB(¢8mm, E45 ¢ 16mm) 1.0 24 2 2879 4014
4 BE 130m. 551.0 X 182.0 X £2.0m(373.80m3/ ABR) ZN 0.280 1.880 1.000 3.040

4496 | #5-17-2(6) | KB ALANTIB(¢8mm, E45 ¢ 16mm) 1.0 24 2 2880 4014
4 BE 130m. 51,0 X 182.0 X £3.0m(EH5.70m3/ABR) Z:N 0.420 2.820 1.000 4560

4497 | #5-17-2(6) | KB ALANTIB( ¢ 8mm, E45 ¢ 16mm) 1.0 24 2 2881 4014
4 BE 130m. 551.0 X 182.0 X £4.0m(EH7.60m3/ABR) ZN 0.560 3.760 1.000 6.080

4498 | #£5-17-2(6) | KB ALANTIB(¢8mm, E45 ¢ 16mm) 1.0 24 2 2882 4014
4 BE 130m. 551.0 X 182.0 X £5.0m(EH9.50m3/ KRR ZN 0.700 4.700 1.000 7.600

4500 | 06-11(5) | HEBHLEMEFRE (SEANMTH) 1.0 2638
1 JE10mm (& #B A #8i75) m2 1.070

4508 | o5 116m. 06 1160| B SEAMNS TOEMAREE) ¢ 4nm BB 130m 1.0 2 4022 2640 2683 EA=1.2m3
4 50cm x 120cm X 2m= 73k (F1541.2m3/ A BI%) X 0.210 0.060 1.000 2.200

4509 | o5 116006 1100| B SEAMS TOEMREE) ¢ 4nm BB 130m 1.0 2 4022 2641 2683 EA=1.8m3
4 50cm x 120cm X 3m= 73k (F1541.8m3/ A BI%) X 0.310 0.900 1.000 2.700

4510 | os-1im 01100 B SEAMNS TOEMAREE) ¢ 4nm BB 130m 1.0 2 4022 2642 2683 EAE2.4m3
4 50cm x 120cm X 4m= 73k (15452.4m3/ A BI3%) X 0.400 0.120 1.000 3.200

4512 | oo im0 o0 ZESEAMS TOEMAREE) ¢ 4nm BB 130m 1.0 2 4022 2640 2683 EA=1.2m3
4 50cm X 120cm X 2mPa 7738 (35 1.2m3/ A FI) x 0.210{ 0.060] 1.000f 3.200

4513 | o5 1m0 o0 ZESEANS TEMAREE) ¢ 4nm BB 130m 1.0 2 4022 2641 2683 EA=1.8m3
4 50cm X 120cm X 3mPa 773 (35 1.8m3/ A FI) x 0.310{ 0.080] 1.000f 4.200

4514 | o5 im0 00| B SEAMNS TOEMAREE) ¢ 4nm BB 130m 1.0 2 4022 2642 2683 EAE24m3
4 50cm X 120cm X 4mPa 773 (A 352.4m3/ A FIR) x 0400{ 0.120] 1.000f 5.200

4516 | o5 1m0 10| B SEANS TEMAREE) ¢ 4nm BB 130m 1.0 2 4022 2643 2683 ERE144m3
4 60cm x 120cm X 2m= 3 (+hz1.44m3/ A 5% x 0.240{ 0.070 1.000] 2.200

4517 | o5 1m0 o0 ZESEAMS TOEMREE) ¢ 4nm BB 130m 1.0 2 4022 2644 2683 ERE2.16m3
4 60cm x 120cm X 3m=3E (+hEk2.16m3/ 5 x 0.350] 0.110 1.000] 2.700
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4518 | oo 1w 06 11600| ZEAEANT TUEAETEE) ¢ 4mn #BE 13cm 1.0 2 4022 2645 2683 EH8288m3
4 60cm X 120cm X 4m= #5738 (+h552.88m3/ & 5i%) ZN 0.450 0.140 1.000 3.200

4520 | oo ri5m. 06 11600| ZEAEANT TG TEE) H 4mn #BE 13cm 1.0 2 4022 2643 2683 ER8144m3
4 60cm x 120cm X 2mPI 36 (g 1.44m3/ K 5% ZN 0.240 0.070 1.000 3.200

4521 | ooriom. 06 1100| ZEAEANT TG TEE) ¢ 4mn #8E 13cm 1.0 2 4022 2644 2683 ERE82.16m3
4 60cm x 120cm X 3mPI 36 (g2, 16m3/ K 5 ZN 0.350 0.110 1.000 4.200

4522 | worim. 06 1100| ZEAEANT TUEAETEE) ¢ 4mn #BE 13cm 1.0 2 4022 2645 2683 EH8288m3
4 60cm x 120cm X 4mPU 36 (+h552.88m3/ K i) ZN 0.450 0.140 1.000 5.200

4524 | woiiom. 05 n1oe| ZEAEANTT(A D) ¢4 BB 13cm 1.0 2 2640 2683 ER=E1.2m3
3 50cm x 120cm X 2m=73% (1541.2m3/ A BI%) N 0.420 1.000 2.200

4525 | woriom o5 nioe| ZEAEANTT(A D) ¢ 4mn BB 13cm 1.0 2 2641 2683 ER=E1.8m3
3 50cm x 120cm X 3m= 73k (F1541.8m3/ A BI%) N 0.610 1.000 2.700

4526 | ooriom 05 n10e| ZEAEANTT(A D) ¢ 4mn BB 13cm 1.0 2 2642 2683 ERE24m3
3 50cm x 120cm X 4m= 73k (15452.4m3/ A BI3%) N 0.800 1.000 3.200

4528 | woriom 05 110e| ZEAEANT T(A D) ¢ 4mn BB 13cm 1.0 2 2640 2683 ER=E1.2m3
3 50cm x 120cn X 2mPa773E (55 1.2m3 /A B3) ZN 0.420] 1.000] 3.200

4529 | woriom 05 n1ee| ZEAEANTT(A D) ¢ 4mn BB 13cm 1.0 2 2641 2683 ER=E1.8m3
3 50cm x 120cm X 3mP773E (55 1.8m3 /A B3) ZN 0.610] 1.000] 4.200

4530 | oorism. 05 1102| ZEAEAMNTT(ANHEE) ¢ 4mn BB 13cm 1.0 2 2642 2683 ERE24m3
3 50cm x 120cm X 4mPa773E (1 352.4m3 /A B3) ZN 0.800| 1.000] 5.200

4532 | woriom 05 n10e| ZEAEANTT(A D) ¢ 4mn BB 13cm 1.0 2 2643 2683 ER8144m3
3 60cm X 120cm X 2m= A3 (sPiEk1.44m3/ A 53%) ZN 0.480 1.000] 2.200

4533 | worism 05 n10e| ZEAEANTT(A D) ¢ 4mn BB 13cm 1.0 2 2644 2683 ERE2.16m3
3 60cm x 120cm X 3m= 3 (sPEs2.16m3/ A 53%) ZN 0.710 1.000] 2.700

4534 | woriom. 05 110e| ZEAEANTT(ANHEE) ¢ 4mn BB 13cm 1.0 2 2645 2683 EH8288m3
3 60cm X 120cm X 4m= 53 (+PE52.88m3/ A& 53%) ZN 0.940 1.000] 3.200

4536 | oo rism. 06 1100| ZEAEANTT(A D) ¢ 4mn BB 13cm 1.0 2 2643 2683 ER8144m3
3 60cm x 120cm X 2mPa A3 (s 1.44m3/ A 51i%) ZN 0.480 1.000] 3.200

4537 | weriom 05 110e| ZEAEANT T(A D) ¢ 4mn BB 13cm 1.0 2 2644 2683 ERE82.16m3
3 60cm x 120cm X 3mPaA3E (552, 16m3/AFIiR) ZN 0.710 1.000] 4.200

4538 | oo rism. 05 1102| ZEAEANTT(A D) ¢ 4mn BB 13cm 1.0 2 2645 2683 EH8288m3
3 60cm x 120cm X 4mPaA53E (+552.88m3/ A 51i%) ZN 0.940 1.000] 5.200

4540 | 06-11(8)D| KB 5 EAMT T (HeM) ¢ 5im #5E 13cm 1.0 2 4022 2648 EA=3.8m3
3 % 100cm x #8200cm X £ 2m (547 3.8m3/ A& 53%) ZN 0.600f 0.380 1.000

4541 | 06-11(8)D| KB 5 EAMT T (HeM) ¢ 5im #5E 13cm 1.0 2 4022 2649 EAE5.7m3
3 % 100cm x #8200cm X £ 3m(5:75.7m3/ A& 53%) ZN 0.900f 0.570 1.000

4543 [06-11(8)D| A& 5 &AM T(AA) b 5mm BE 130m 1.0 2 2648 EAE3.8m3
2 % 100cm x #8200cm X £ 2m (547 3.8m3/ A& 5l3%) ZN 1.360 1.000

4544 [ 06-11(8)D|AE 5 &AM T(AA)d5mm BE 130m 1.0 2 2649 FEAEL M3
2 % 100cm x #8200cm X £ 3m(5:75.7m3/ A& 53%) ZN 2.040 1.000
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4546 [06-11(9)D| k& =FE5LANT T  5nm #8E 13cm 1.0 2 4022 2648 2683 ZEA24.0m3
4 %100cm X #8200cm X £2mPu 735 (544 0m3/ A 5l%) N 0.720 0.200 1.000 8.000

4547 [06-11(9)D| k& =5 LANT T ¢ 5nm 488 13cm 1.0 2 4022 2649 2683 ZEA26.0m3
4 %100cm X #8200cm X £3mPu 7535 (546 0m3/ & 5l3%) N 1.080 0.300 1.000f 10.000

4548 [06-11(9)Q| kB =F5LANTI(AA) G 5m #BE13cm 1.0 2 2648 2683 ZEA=4.0m3
3 %100cm X #8200cm X £2mPu 735 (544 0m3/ A 51%) ZN 1.400 1.000 8.000

4549 [06-11(9)Q| kB =B LANTI(AA) G 5m #BE13cm 1.0 2 2649 2683 EA26.0m3
3 %100cm X #8200cm X £3mPu 35 (546 0m3/ & 5l3%) ZN 2.100 1.000] 10.000

4551 |06-11(10)|AZUEET o 4mm #BE13cm 1.0 2651 2 4166 ERE0.656m3
3 E#£0.6mMA (GEH0.65m3/{ERBI) & 1.000 0.130 0.070

4552 |06-11(10)|AZUEET o 4mm #BE13cm 1.0 2652 2 4166 ER=E0.58m3
3 E#£0.8mMA (GEH0.58m3/{ERBI) & 1.000 0.110 0.060

4553 |06-11(10)|AZUEET o 4mm #BE13cm 1.0 2653 2 4166 ERE1.10m3
3 FEE1.0mAGER1.10m3/ERIE) & 1.000 0.210 0.110

4554 |06-11(10)|AZUEET o 4mm #BE13cm 1.0 2654 2 4166 ERE1.16m3
3 FE1.2mAGER1.16m3/ERIR) & 1.000 0.220 0.120

4555 |06-11(10)|AZUEET o 4mm #BE13cm 1.0 2655 2 4166 ERE1.10m3
3 EZ1.3mAGER1.10m3/@51:&) & 1.000 0.210 0.110

4556 |06-11(10)|AZUEET o 4mm #BE13cm 1.0 2656 2 4166 ERE1.14m3
3 FEE1.5mAGERT.14m3/ERIR) & 1.000 0.210 0.110

4557 |06-11(10)|AZUEET o 4mm #BE13cm 1.0 2657 2 4166 ERE1.91m3
3 EE1.75mAGERT.91m3/@ERI&) & 1.000 0.360 0.190

4558 |06-11(10)|AZUEET o 4mm #BE13cm 1.0 2658 2 4166 ERE1.98m3
3 F#%2.0mAGER1.98m3/ERIR) & 1.000 0.370 0.200

4559 |06-11(10)|A%UEET o 4mm #BE13cm 1.0 2659 2 4166 ERE2.76m3
3 EZ2.5mAGER2.76m3/{ERIR) & 1.000 0.520 0.260

4560 |06-11(10)|AZUEET o 4mm #BE13cm 1.0 2660 2 4166 ERE2.98m3
3 E#%3.0mAGEHR2.98m3/ERIR) & 1.000 0.560 0.300

4561 |06-11(10)|AZUEET o 4mm #BE13cm 1.0 2661 2 4166 ERE4.28m3
3 E#£3.5mAGER4.28m3/ERIR) & 1.000 0.800 0.430

4562 |06-11(10)|AZUEET o 4mm #BE13cm 1.0 2662 2 4166 ERE4.10m3
3 FE£4.0mAGER4.10m3/ERIE) & 1.000 0.760 0.410

4564 [06-11(10)|A&ET((T7—F ) ¢ 4mn 48 13cm 1.0 2664 2 4166 ERE1.56m3
3 §2.0m X R1.5mA (357 1.55m3/{E31&) 1@ 1.000f 0.290| 0.160

4565 [06-11(10)|A&ET(AT7—F ) ¢ 4mn #8E13cm 1.0 2665 2 4166 ERE1.76m3
3 §2.0mxR1.5mB (&% 1.76m3/{@Bl#%) 1@ 1.000f 0.330] 0.180

4566 [06-11(10)|A&ET((T7—F ) ¢ 4mn #8E13cm 1.0 2666 2 4166 ERE2.05m3
3 52.3m X R1.65mA (G5EH2.05m3/{ERI%&) {&l 1.000 0.390 0.210

4567 [06-11(10)|A&ET((T7—FF) ¢ 4mn 48 13cm 1.0 2667 2 4166 ERE1.58m3
3 $2.3m X R1.65mB(GEH 1.58m3/{ERI) {&l 1.000 0.300 0.160
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4568 [06-11(10)|BR&ETO(FF—FR) d4m BE13cm| 1.0 2668 2 4166 =AE200m3
3 82.7mxR1.8mA (357H2.00m3/{E5I&) & 1.000] 0.370] 0.200

4569 [06-11(10)| BRI (F7—FR) d4m EE13cm| 1.0 2669 2 4166 =EAE253m3
3 $2.7mxR1.8mB (557 2.53m3/fEZI%) & 1.000] 0.470] 0.250

4570 [06-11(10)|BR&ETO(FF—FR) d4m BE13cm| 1.0 2670 2 4166 =ERE255m3
3 $3.0m X R1.95mA (72.55m3/{@51:%) & 1.000]  0.480| 0.260

4571 [06-11(10)| BR#ETO(F7—F ) d4m BE13cm| 1.0 2671 2 4166 =ARE205m3
3 $3.0mxR1.95mB(5572.05m3/{ERI%) & 1.000[  0.390| 0.210

4572 |06-11(10)| BR&ETO(FF—FR) d4m BE13cm| 1.0 2672 2 4166 HEAE3.11m3
3 $3.7mxR2.25mA (73.11m3/{@R1R) & 1.000/ 0.580| 0.310

4573 |06-11(10)| BR#ETO(F7—FR) d4m EE13cm| 1.0 2673 2 4166 HEAE291m3
3 $3.7mxR2.25mB(5572.91m3/{ARI%) & 1.000]  0.540| 0.290

4574 |06-11(10)| BREETO(FF—FR) d4m BE13cm| 1.0 2674 2 4166 =EAE352m3
3 S4.4mxR2.6mA (357 3.52m3/{E5I%&) & 1.000] 0.650] 0.350

4575 [06-11(10)| BR&ETO(F7—FR) d4m @E13cm| 1.0 2675 2 4166 HEAE262m3
3 S4.4mxR2.6mB (557 2.62m3/{ERI%) & 1.000] 0.490] 0.260

4576 |06-11(10)|BR&ETO(F7—FR) d4m EE13cm| 1.0 2676 2 4166 =AE4.13m3
3 85.1mx R2.9mA (35 4.13m3 /A1) & 1.000| 0.770] 0.410

4577 |06-11(10)|BREETO(FF—FR) d4m @E13cm| 1.0 2677 2 4166 HERE3.22m3
3 85.1mx R2.9mB (554 3.22m3 /@ RI3%) & 1.000] 0.600] 0.320

4578 [06-11(10)|BR&ETO(F7—FR) d4m BE13cm| 1.0 2678 2 4166 =EAE529m3
3 85.8mx R3.2mA (35/5.29m3 /BB &) & 1.000] 0.990] 0.530

4579 [06-11(10)|BR#ETO(F7—FR) d4m EE13cm| 1.0 2679 2 4166 =EAE3.82m3
3 85.8m x R3.2mB (557 3.82m3 /& ZI%) & 1.000] 0.710] 0.380

4581 |06-11(11)| == AREET ¢ 4nm #BE13cm 1.0 2651 2683 2 4166 =AE072m3
4 E20.6mAGER0.72m3/{ERI) & 1.000 3.900 0.160 0.040

4582 |06-11(11)| == AREEET ¢ 4nm #BE13cm 1.0 2652 2683 2 4166 =AE065m3
4 E20.8mMA (EH0.65m3/{@RI) & 1.000 3.800 0.140 0.030

4583 |06-11(11)| == AREET ¢ 4nm #BE13cm 1.0 2653 2683 2 4166 =ERE1.16m3
4 ER1.0mAGERT.16m3/{@RI%) & 1.000 5.300 0.260 0.060

4584 |06-11(11)| == AREET ¢ 4mm #BE13cm 1.0 2654 2683 2 4166 HERE1.22m3
4 ER1.2mAGER1.22m3/{@RI#%) & 1.000 5.500 0.260 0.060

4585 |06-11(11)| == AREEET ¢ 4nm #BE13cm 1.0 2655 2683 2 4166 =ERE1.16m3
4 E1.35mA(GER1.16m3/ARI%) & 1.000] 5.400| 0.260] 0.060

4586 |06-11(11)| == AREET ¢ 4nm #BE13cm 1.0 2656 2683 2 4166 HEAE1.20m3
4 ER1.5mAGER1.20m3/{@ERI%) & 1.000 5.600 0.260 0.060

4587 |06-11(11)|=Z=AREET ¢ 4nm #BE13cm 1.0 2657 2683 2 4166 HEAE201m3
4 EE1.75mA(GER2.01m3/@ERI®) & 1.000] 7.900| 0.460| 0.110

4588 |06-11(11)| == AREET ¢ 4nm #BE13cm 1.0 2658 2683 2 4166 =ARE208m3
4 EZ2.0mA GER2.08m3/{@RI#) & 1.000 7.900 0.460 0.100
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4589 |06-11(1N)|=ZEABET o 4mm #BE13cm 1.0 2659 2683 2 4166 EHE291m3
4 ER25mAGER2.91m3/{@ERI%) & 1.000] 10.000 0.640 0.150

4590 |06-11(1N)|=ZEABET o 4mm #BE 13cm 1.0 2660 2683 2 4166 ERE83.14m3
4 EZ3.0mAGERS.14m3/{@RI) & 1.000] 10.800 0.690 0.160

4591 |06-11(1N)|=ZEABET o 4mm #BE 13cm 1.0 2661 2683 2 4166 ER8451m3
4 EE35mAGER4.51m3/{ERI%) & 1.000] 13.800 0.990 0.230

4592 |06-11(1N)|=ZEABET o 4mm #BE 13cm 1.0 2662 2683 2 4166 ER8432m3
4 ER4.0mAGER4.32m3/{ERI%) & 1.000] 13.900 0.950 0.220

4594 [06-11(11)|==RRgET((T7—FA)d4m #E 13om 1.0 2664 2683 2 4166 EHE1.63m3
4 $2.0m xR1.5mA(FrEE1.63m3/{E Bl &) & 1.000 6.800 0.360 0.080

4595 [06-11(11)|==RRgT((T7—FA)d4m #E 13om 1.0 2665 2683 2 4166 =R E81.85m3
4 $2.0mxR1.5mB(&£1.85m3/{@RI%) & 1.000 7.200 0.400 0.090

4596 [06-11(11)|==pRgT((T7—FA)d4m HE 13om 1.0 2666 2683 2 4166 ERE2.16m3
4 $2.3m X R1.65mA(FE52.16m3/{ERI®R) (e 1.000 8.300 0.480 0.110

4597 [06-11(11)|==pRgT((T7—FA)d4m HE 13om 1.0 2667 2683 2 4166 ERE1.66m3
4 $2.3m X R1.65mB(EE1.66m3/ERI%) (e 1.000 6.900 0.360 0.080

4598 [06-11(11)|==RRgT((T7—FA)d4m HE 13om 1.0 2668 2683 2 4166 EHE2.10m3
4 $2.7m xR1.8mA (FrEE2.10m3/{@ Bl &%) & 1.000 8.200 0.460 0.110

4599 [06-11(11)|==RRgT((T7—FA)d4m HE 13om 1.0 2669 2683 2 4166 ERE266m3
4 $2.7mxR1.8mB(hE2.66m3/{ERI%) & 1.000 9.300 0.580 0.130

4600 [06-11(11)|==RRgT((T7—FA)d4m HE 13om 1.0 2670 2683 2 4166 EHE8268m3
4 $3.0m xR1.95mA (F552.68m3/{ERI®R) (e 1.000 9.800 0.580 0.130

4601 [06-11(11)|==RRgET((T7—FA)d4m #E 13om 1.0 2671 2683 2 4166 ERE2.16m3
4 $3.0m xR1.95mB(EE2.16m3/ERI%) (e 1.000 8.300 0.480 0.110

4602 [06-11(11) (=22 T AT7—FA)d4m HE 13om 1.0 2672 2683 2 4166 ERE3.27m3
4 $3.7m X R2.25mA (F1553.27m3/{ERI%) (e 1.000f 11.300 0.720 0.160

4603 [06-11(11)|==RpRgT((T7—FA)d4m HE 13om 1.0 2673 2683 2 4166 EHE3.06m3
4 $3.7m xR2.25mB(FpE53.06m3/fERI%) (e 1.000f 10.500 0.670 0.150

4604 [06-11(11)|==RRgT((T7—FA)d4m B 13om 1.0 2674 2683 2 4166 EHE3.70m3
4 $4.4m x R2.6mA (FREE3.70m3 /{& Bl &%) & 1.000] 12.500] 0.810 0.190

4605 [06-11(11)|==RRgT((T7—FA)d4m HE 13om 1.0 2675 2683 2 4166 ERE2.76m3
4 S4.4mxR2.6mB(hE2.76m3/fERI%) & 1.000] 10.200] 0.600 0.140

4606 [06-11(11)|==pRgT((T7—FA)d4m B 13om 1.0 2676 2683 2 4166 EH84.35m3
4 $5.1m X R2.9mA (Fh5£4.35m3 /{& Bl &%) & 1.000] 13.100] 0.950 0.220

4607 [06-11(11)|==RpRgT((T7—FA)d4m HE 13om 1.0 2677 2683 2 4166 EHE3.39m3
4 $5.1m x R2.9mB (5575 3.39m3 /{@ 31 &) & 1.000] 11.800] 0.740 0.170

4608 [06-11(11)|==pRgT((T7—FA)d4m B 13om 1.0 2678 2683 2 4166 ERE557m3
4 $5.8m X R3.2mA (FhEE5.57m3 /& Bl &%) & 1.000] 16.700 1.220 0.280

4609 [06-11(11)|==RRgT((T7—FA)d4m HE 13om 1.0 2679 2683 2 4166 ER84.02m3
4 85.8m x R3.2mB(h&E4.02m3 /A RI%) & 1.000] 13.600] 0.880 0.200
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4611 [£#£5-16(4)|ASBIEGERIMHERZ 10.0 24 1 2 4014 1000
5 Z50cm X 280cm m 0.170[ 0.190| 0.580| 1.410| 4.000

4612 [#£5-16(4)|ACHIGEL)MHERER 10.0 24 1 2 4014 1000
5 Z50cm X i280cm m 0.110[ 0.120| 0.380] 1.280| 13.000

4613 [#£5-16(4)|ASBIEGERIMHERZR 10.0 24 1 2 4014 1000
5 Z50cm X f2120cm m 0.240[ 0.260| 0.820| 1.860| 3.000

4614 |[#£5-16(4)|ACHIGEL)MHERER 10.0 24 1 2 4014 1000
5 Z50cm X f2120cm m 0.150[ 0.160| 0510 1.670| 14.000

4616 | 06-12(1)|xm>%T 10.0 2681 2
2 m2 | 200.000]  4.200

4617 | 06-12(2)|xm»>T 10.0 2681 2 1.0m2KRBDZE
2 & 10.000{  0.210

4618 | 06-12(1)-(3)| TDSFET +HIEL 10.0 2681 2
2 m2 | 200.000{  5.000

4619 |06-12(2)-()| DS THHET 10.0 2681 2 1.0m2EKHENIHE
2 & 10.000{  0.250

4630 (M IRUERITT)

4631 $H6-1-2|FATI(A ) 10.0 2 BAZES0-100%
1 ¢ 60mA RHET.2m X 0.400

4632 | #6-1-2|HATT(AA) 10.0 2 BAES0-100%
1 ¢ 60mmiAZ z.90mmLL R E1.2m & 0.600

4633 | #6-1-2|HATT(AA) 10.0 2 BAES0-100%
1 ¢ 60mmiZ 2. 90mmLL R4 E1.5m & 0.900

4634 | #6-1-2|HATT(AA) 10.0 2 BAES0-100%
1 ¢ 60mmiZ 2 90mmLL R4 E1.8m & 1.200

4635 | #6-1-2|HATT(AA) 10.0 2 BAES0-100%
1 ¢ 90mmiZ 2 120mnLL FHE1.2m & 0.800

4636 | #6-1-2|HITT(AA) 10.0 2 BAES0-100%
1 ¢ 90mmiZ 2 120mmLL R4 E 1.5m & 1.300

4637 | #6-1-2|HATT(AA) 10.0 2 BAES0-100%
1 ¢ 90mmi#Z 2 120mnLL FHiE 1.8m & 2.200

4638 | #6-1-2|HATT(AA) 10.0 2 BAES0-100%
1 ¢ 90mmiZ 2 120mnLL FHE2.1m & 3.600

4639 | #6-1-2|HATT(AA) 10.0 2 BAES0-100%
1 ¢ 90mmiZ 2 120mnLL FHE 2.4m & 4.700

4640 | #6-1-2|HATT(AA) 10.0 2 BAES0-100%
1 ¢ 120mmiZ 2 150mmLL R4 E1.5m & 1.900

4641 $H6-1-2|FATIZ(A ) 10.0 2 BAES0-100%
1 ¢ 120mmiB 2 150mmLL R4 E1.8m & 2.300
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4642 | £6-1-2\HITT(AH) 10.0 2 RAES0-100%

1 |é120miBA150mAFHE2Im | & 5.700
4643 | 6-1-2[HITT(AH) 10.0 2 RAES0-100%

1 | o 120miBA150mA FHE24m | & 6.900
4644 | 6-1-2[HITT(AH) 10.0 2 RAES0-100%

1 |é120miBz150mAFHELIm | & 8.000
4645 | £6-1-2[HITT(AH) 10.0 2 RAES0-100%

1 |é120miBz150mA FHESOm | & 10.900
4647 | #6-1-3|xmttis 10.0 2

1 |o90mU FHEL5m * 0.290
4648 | #£6-1-3|x#ttis 10.0 2

1 | ¢ 90m T4 E3.0m * 0.320
4649 | #6-1-3|xmttis 10.0 2

1 | o 90m FHiE40m * 0.330
4650 | #£6-1-3|Ax#ttis 10.0 2

1 | o 90m T4 ES50m * 0.340
4652 | #6-1-3|xmttis 10.0 2

1 | 90miBz 120mL T4 E1.5m & 0.360
4653 | #£6-1-3|x#ttis 10.0 2

1 | 90miBz 1 20mL T4 E3m & 0.420
4654 | #£6-1-3|x#ttis 10.0 2

1 | 90miBz 120mL T4 E4m & 0.630
4655 | #£6-1-3|x#ttis 10.0 2

1 | 90m#B 120mL T4 E5m & 0.770
4657 | #6-1-3|xmttis 10.0 2

1 |é120miBA150mAFHEISm | & 0.440
4658 | #£6-1-3|x#ttis 10.0 2

1 |¢120mmiB% 150m FiLE3m & 0.600
4659 | #6-1-3|x#ttis 10.0 2

1 |¢120mm#A% 150m FiLE4m & 0.730
4660 | #£6-1-3|Ax#ittis 10.0 2

1 |¢120mmiB% 150m FiLES5m & 0910
4661 | #£6-1-3|x#ttis 10.0 2

1 |¢120mmiA% 150m FiLE6m & 1.120
4663 | #£6-1-3|x#ttis 10.0 2

1 | ¢ 150mmiz 180m FiLE3m & 0.770
4664 | #6-1-3|xmttis 10.0 2

1 | ¢ 150mmiEz 180m FiLE4m & 0.900
4665 | #£6-1-3|x#ttis 10.0 2

1 | ¢ 150mmiA% 180m FiLES5m & 1.100
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4666 | #£6-1-3|AHittH 10.0 2

1 | ¢ 150mmiEz 180m FiLE6m & 1.340
4667 | #6-1-3|xmtti 10.0 2

1 | ¢ 150mmi% 180m FiLEIm & 1,620
4668 | #£6-1-3|Ax#ttis 10.0 2

1 | ¢ 150mmiEz 180m FiLESm & 1.880
4670 | #6-1-3|xmttis 10.0 2

1 | ¢ 180mmiAZ 210m FiLE3m & 0.990
4671 | #6-1-3|xmttis 10.0 2

1 | ¢ 180mmiAZ 210m FiLE4m & 1.120
4672 | #6-1-3|xmttis 10.0 2

1 | ¢ 180mmiAZ 210m FiLES5m & 1.330
4673 | #6-1-3|xmtti 10.0 2

1 |¢180mmiAZ 210m FiLE6m & 1,690
4674 | #6-1-3|xmtti 10.0 2

1 | ¢ 180mmiAZ 210m FiLEIm & 1.880
4675 | #6-1-3|xmttis 10.0 2

1 | ¢180mmiAZ 210m FiLESm & 2.160
4677 | #6-1-3|xmttis 10.0 2

1 |¢210mmiAz 240m FiLE3m & 1.130
4678 | #6-1-3|xmttis 10.0 2

1 |¢210miAz 240m FiLE4m & 1.320
4679 | #6-1-3|xmttis 10.0 2

1 |¢210mmiBz 240m FiLES5m & 1,620
4680 | #6-1-3|Ax#ittis 10.0 2

1 |¢210miBz 240m FiLE6m & 1.810
4681 | #6-1-3|x#ittis 10.0 2

1 |¢210miBz 240m FiLETm & 2.130
4682 | #6-1-3|xmttis 10.0 2

1 |¢210mmiBz 240m FiLE8m & 2,440
4684 | #6-1-3|x#ttis 10.0 2

1 | ¢240mmiBz 270m FiLE3m & 1210
4685 | #£6-1-3|x#ttis 10.0 2

1 | ¢240mmiBz 270m FiLE4m & 1.440
4686 | #£6-1-3|x#ttis 10.0 2

1 | ¢240mmiBz 270mm FiLES5m & 1.660
4687 | #6-1-3|xmttis 10.0 2

1 | ¢240mmiBz 270m FLE6m & 1.990
4688 | #6-1-3|x#ittis 10.0 2

1 | ¢240mmiBz 270m FiLETm & 2.320
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4689 | #6-1-3|Ax#ittis 10.0 2
1 | ¢240mmiBz 270m FiLESm & 2.660
4690 [07-1(04()|PIAE AR VA GLA#ET) 100 | 2685 2
2 |Bl3E#E4910N/m m2 | 10000 0040
4691 07-3[A%T 100 | 2688 | 2620 | 4958 | 240 24 2
6 m 2500 0110|0110 250.000] 0450] 2130
4692 | #7-1-3|AmTOvsBmT GHURCYMEEA) | 10 | 2694 | 24 2 1000
4 |300x750x1,000mm m2 1000| 0040 0300 2000
4693 |07-1202-1|nT R BARERE 100 | 2699 2 4166 hEEE7.2m3R54
3 | ¢ 4mn 13cnBE60cn X 120cm m 10000] 1.160] 0360
4694 |07-122-2) |07 F LB - SR A 100 | 2698 2
2 m 10.000|  0.400
4700 | 07-5(1)|ABBsmEHA T (BRIEHL) 100 | 2705 2 RS ERNEE
2 AT #EBTLam m 2500 0380
4701 | 07-5(1)| AREEHK T (FKiEHY) 100 | 2705 2 4263 T IIN
3 AT #EBmoam m 2500 0380 0480
4702 | #£7-4-1|AABTOABT) 100 | 2688 | 2620 | 24 2 1000 | 4958 | 4960
7 |mtsm m 0200] 0120] o0110] 0780 1.000] 0120 0320
4703 | #7-4-1|AABTGEHT) 100 | 2688 | 2620 | 24 2 1000 | 4958 | 4960
7 Bt (NERER) m 0300] 0120] o0110] 0900] 1.000] 0120 0420
4704 | 07-6()|[hAHKKRT 10 | 2709 2
2 |A®m(E®E30~60cmm) % 1000 0330
4705 | 07-6(1)|hAHKKRT 10 | 2710 2
2 |BEI(EE80~100cmmA) £ 1000 0610
4706 | 07-6(2)| stk 10 | 2712 2
2 # 1.000|  1.400
4707 | 07-6(3)|AsEmms LT 10 | 2714 2
2 |A®(E£60~100cmm) £ 1000 0470
4708 | 07-6(3)|AsEmEs LT 10 | 2715 2
2 |BE(E®120~175cmA) £ 1000 0640
4709 | 07-6(4)|nAREE 10 | 2716 2 4166 | 4087
4 |kiE EETED m 1000| 0370 0040 0010
4710 | 07-6(5)7 [ hATARKRT 10 | 2718 2
2 |L-am # 1000 3830
4711 | 07-6(5)7 [ATRART 10 | 2719 2
2 |l-em # 1000 5090
4712 | 07-6(5)7 [ ATRARKRT 10 | 2720 2
2 |L-sm # 1000 6.230
4713 | 07-6(5)7 | hATRARKRT 10 | 2721 2
2 |i-1om # 1000|7540

28




& B
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4715 | TRARBRT 1.0 2688 2629 225 2723 4958 4960 2
L-15F (RRIEM) = 0.040 0.204 1.400 0.700] 0.204] 0.244] 0.960
4716 | FRARBRT 1.0 2688 2629 225 2723 4958 4960 2
L-3.0F (RFIEM) = 0.080 0.374 2.800 1.400( 0.374| 0.454 1.770
4727 CERR M ERER)
4728 | #R2-1-4(2)[1ZHFZEL 10.0 24 2
2 HigUEs = 0.500 1.500
4729 | #2-1-4(2)[1ZHBZEL 10.0 24 2
2 i AR AT ® 0.300 1.100
4730 |#R2-1-4(2)[1ZHFZEL 10.0 24 2
2 waEXEs = 0.600 2.000
4731 | #2-1-4(2)[1ZHFZEL 10.0 24 2
2 i AR ® 0.500 1.700
4733 08-2(1)|sM& 7 —~( I &) 1.0 2729 24 2 4166
4 = 1.000 0.370 1.230 0.140
4735 H—TI5—(E'm:7HUL) 1.0 4728 4729 1883 ¢ 600mm
3 $E2600mn(—E ). 4176.3¢ X 3,600mm = 1.000 1.000 1.000
4736 H—TIS—(Em:77UL) 1.0 4728 4729 1884 ¢ 800mm
3 $E2800mn(—E ). 4176.3¢ x4,000mn = 1.000 1.000 1.000
4737 OffifgEHET
4739 M3-4(4) | T BB T (UL — B, BIGRTLZLFIR) 1.0 23 21 2 1000
4 — SR, WA SRSE, TS A M A2mA =] 1.000 3.000 1.000 2.000
4740 | #3-4(4)|7LBERTOL— ER, EMTHEELALEIR) 1.0 23 21 2 1000
4 R, RO RIS, A MBSO £ =] 1.000 3.000 1.000f 11.000
4741 M3-4(4) | ZAPEMA J|INEEL 2L 1.0 2731 HHLTAK
1 EAUNR(FL Iy REE) 1,875ke: 73380 /m3 m3 1.000
4742 | #3-4(14)|BHIE 1.0 21 21 2733 L2XT1/m2RIxst £
3 S (TR ES) m2 0.029 0.020 1.000
4744 | #3-4(5)|#bAE T (L —ERBI®) 1.0 23 21 1000
3 it (KT EFET) =| 1.000 5.000 3.000
4745 | #3-4(5) |t T (L —ERBI®) 1.0 23 21 1000
3 FEX(RETEES) =| 1.000{  6.000 3.000
4746 | #3-4(6)1)7 | BEIT(NvIIL—rEMBIER) 1.0 23 21 1000
3 it (REEST) =) 1.000 5.000| 11.000
4747 | #3-4(6)1)7 | BE I (NvIIL—rEMBI®R) 1.0 23 21 1000
3 FEEAUREET) =) 1.000 6.000] 11.000
4748 | H3-4(6)1 1 | RET(T—TILIL—VERBIRK) 1.0 23 21 2 1000
4 ST - FEHT - T—AV (REFEEE) B 1.000 7.000 1.000 8.000
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4749 | #3-4(6)2)| RFE T (VL —rERBIRK) 1.0 23 21 2 1000

4 P RURIEED) =] 1.000/ 7.000] 1.000| 8.000
4750 | #3-4(7)| A FHI (hER VR 1.0 23 21 1000
3 (EZTEBHBIE) B 1.000[  5.000|  4.000
4751 | #K3-4(8)|EBIHLEBRAMAT 1.0 23 21
2 GL—ERBIE) foc) 1.000[  3.000
4752 | #3-4011)1)| R AR R IB A BRI 1.0 23 21 2 1000
4 T=TNIL—2 (L= EHBIER) =] 1.000/ 7.000] 1.000] 5.000
4753 | #3-4(11)2)| R A RIB A fRAK 1.0 23 21 2 1000
4 F=TNILGLav (IL—VERBIE) =] 1.000/ 7.000] 1.000] 5.000
4754 | #3-4(11)3)| RUNRIBERE - K 1.0 23 21 1000
3 (GITL=oL =B RUNERRIR) =] 1.000 5.000 1.000
4755 | M3-401 )4 [ RUNERERE - A 1.0 23 21
2 (i, SMIRISFEE B R) =] 1.000[  4.000
4756 | #3-4(15)2)| B A& R SEFBERAR T) 1.0 503
1 {EEHE33% ® 0.330
4757 | #3-4(15)2)| IEZI#F (SHFBRAR L) 1.0 2628
1 {EEHE33% m3 0.330
4758 | #3-4(15)2)| BB - B - A (BIFBERAR ) | 100.0 24 26 2 4756 4757 1000
6 m2 5.000| 19.000/ 13.000| 70.500| 2.600| 7.000
4759 | %3-4(15)5)| FE VM EIBERIR T) 1.0 1021
1 EHE25% m2 0.250
4760 | #3-4(15)5)| FE T (SAFBERRT) 100.0 2 4759
2 m2 1.600{ 110.000
4761 09-4 B4 AT (200 X 800mmEL ) 1.0 2
1 FHRUOSHFHERR) #® 0.140
4762 | #3-4(11)3)| RUNRIBERE - K 1.0 23 21 2 1000
4 F=TNIL—ER RUNERRIR) =] 1.000]  6.000] 1.000] 5.000
4764 | #R2-1-3(4)|H—RL—ILZE 100.0 2 MEERRET
1 THEARNIEAL) m 9.000
4765 |#k2-1-3(4)|H—RL—LZE 100.0 2 MRERRET
1 Y)-NEARNHEAL) m 17.000
4767 09-5(4) |/ M TEMBIBCAEE) 1.0 2736 1 2
3 BERBA ST HHERR) m 0.090[ 0.030] 0.210
4769 | #2-1-2-6(4)| H—RL— L XHITA MBS R B 1.0 14 99 2330 670/110=6 1/6=0.2.A
3 E4 2 %400~600kg i 5 0.200]  6.500|  1.000
4770 |#:2-1-2-5|FREXHEA(FH—RT—T L) 100.0 24 2 4769 1000 MRBERRE L
4 MER £ >:400~600kg X 2.800| 7.100| 25.300| 12.000
4778 U & T
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4779 #8-2| X DSHHEYI T 10.0 978 2
2 1547 m2 170.000 6.000
4780 #8-2| X DSHHEYI T 10.0 978 2
2 0547 m2 340.000] 12.000
4782 |#£8-9(6)1)| KRB L D5 T (B ZE) 10.0 24 1 2 985 4120 1000 it EME R + OS55F545 A 2R KEThi
6 T —— ® 3.600 3.600 3.600| 10.000 3.600 4.000
4783 | 3£8-9(6)5) | KE T D5 (#E) 10.0 24 1 4121
3 fERHEOMLL T, BESER, Prhh X R (BRI AE(E) 72412 9t % 1 4400 1 4400 1 4400
4784 | 3£8-9(6)5) | KE T DS>T (#*E) 10.0 24 1 2565
3 B2 £26m-20m, HEEHN A SR (ORI A () % 13.400| 13.400| 13.400
4785 |3£8-9(6)4)| KB L DS (B, &) 10.0 24 1 2 4119
4 fERHEOMLLT, BESER, Prhh X R (FIREAE(E) 712412 9t % 8600 8600 8600 8600
4786 |3£8-9(6)4)| KB L DS (FE. B&H) 10.0 24 1 2 2565
4 fESE 2 6m—20m, HEHIN A% T (ORI AEE) % 8.000 8.000 8.000 8.000
4787 |#£8-4-1(6)2)| KB TR FiBéniE & (02150 % 14) 1.0 1 2514 2523 99 1000 30m3/hEkiEE/NOE
5 0~ 403 /A B USRS R BBt A (B2K B D)) =] 0.140 1.200 1.200] 26.000 3.000
4788 |#£8-4-1(6)2)[ /KB TRy FEexiE & (D E200mn X 14) 1.0 1 2515 2533 99 1000
5 40120/ (). B R TP AR (2R EAE )] =] 0.140 1.200 1.200] 38.000 3.000
4789 | #£8-4-1(6)2) k& Tote 7 TirsE (0 150mx 14, 200mmx 24) 1.0 1 2514 2515 2535 99 1000
6 120-450m3 ok B RBVR T A AT (B2 R =] 0.140 1.200 2.400 1.200| 66.000 3.000
4790 |#8-4-1(6)2)| KB TRy FiBéniE & (02150 % 14) 1.0 1 2514 2532 99 1000 30m3/hEkiEE/NOE
5 0~ 40m3/hRI (B, RHRTHEN AR (HORIAW) ) =] 0.170 1.100 1.100] 79.000 1.000
4791 | #£8-4-1(6)2) [ /KB TR FBexfE & (D E200m X 14) 1.0 1 2515 2533 99 1000
5 40~ 120m /s (B, RBYR B R (S22 ) =] 0.170 1.100 1.100] 115.000 1.000
4792 | $£8-4-1(6)2) k& Tote 7 TirsE 2t (02 150mx 14, 200mmx 24) 1.0 1 2514 2515 2535 99 1000
6 120 450m3 WA IR, B ETALHEN KD H2REED] =] 0.170 1.100 2.200 1.100] 199.000 1.000
4793 | #£8-4-2(6)2) [ /KB TR FFerF 2 (OE50m X 14) 1.0 1 2525 100 1000 hOE
4 0~6m3/hR A (3B REE BN A ED EORRE) ] =] 0.140 1.100 8.900| 10.000
4794 | ££8-4-2(6)2)| kBT FEexiR & (DR 100m X 14) 1.0 1 2527 99 1000 hOF
4 6~ 30m /R A HE ). BV A A A (22 ) =] 0.140 1.100 6.700/ 10.000
4795 | #£8-4-2(6)2) [ /KB TR FFrFE (OE50m X 14) 1.0 1 2525 100 1000 N =2
4 0~ 6m3/hok (S, R R BN AN ED (B2 REEM)] H 0.170 1.100] 28.000 8.000
4796 |#£8-4-2(6)2)| kBT AR FEexiZ & (DR 100m X 14) 1.0 1 2527 99 1000 hOF
4 6~ 30m3/hRM (). RHRTHUHEN AR FORIA) ) H 0.170 1.100] 20.000 8.000
4797 |#8-4-16)3) KBTI BAKKRY TR -BE 1.0 24 1 2 4103 OF100mmELRIE/NO
4 R FOEIS0mmELE, P AR ok | AT 0.500| 0.100{ 2.000| 0.500
4798 |#8-4-26)3)|KEL KK FHEMAHEE 1.0 24 2 IN=ES
2 R FOEE50mm AT 0.300 0.500
4799 |[st8-4-20)3)| KBTI EARY THEMEE 1.0 24 2 4102 IN=ES
3 Ay FOE100m,, St xR (o) | BRT 0.500| 1.000{ 0.500
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4800 #8-5(3)| REBEMHRE -HE 100.0 24 6 2 2565 1000 e F S AP
5 FHEEGUVRMRIS. Sy AEE GEoRaem |  Hm2 1.400 6.300 1.200 1.400| 34.000
4801 #8-5(3)| REBEMHRE -HE 100.0 24 6 2 2565 1000 e N
5 HE RIS PRy AXER (2R EEME) | Eim2 1.700 6.300 1.600 0.800| 32.000
4802 #8-5(3)| REBEMHRE -HE 100.0 24 6 2 2565 1000 e N
5 SRR IS, BN AR ER (EoREAqE) | Eim2 1.400 4100 2.500 0.800] 35.000
4804 H8-6|FvubIr—U BB T 10.0 24 6 2 1000 BRAER
4 m 0.100 0.400 0.400] 27.000
4805 |ot0-stfr7(1)|NEFTHE - #E 1.0 2628 2738 1000 2
4 HEHEN W2 EEEEIIRE =] 0.026 0.016 3.000 1.500
4807 |oto-stoma| A ABRE 10.0 24 2 1000 BHRENMEE HHRLAK
3 m3 0.040 0.430 2.000
4808 |o10-zmona7| TEXEREGRE (CEEmE) 1000.0 24 2 4128 1000 HFEMLA
4 500m25k 5 . RERA00mE T, H iAKW (20148 5841) m2 0.130 0.290 0.780 2.000
4809 |oi0-zmonar7| TEXBIREGRE (CEEmE) 1000.0 24 2 4128 1000 HFEMLA
4 500251 £ 1,000m23k %, ABFRAQomELT. SR 5 BB 20145 S5) m2 0.130 0.290 0.500 2.000
4810 #8-5(3)| REBMHRE -HE 100.0 24 6 2 2565 1000 BeRvhHY
5 FHEEGUVRMRIS. Sy AEE GoRaem |  Hm2 1.400 7.700 1.200 1.400| 31.000
4811 #8-5(3)| REBEMHRE - HE 100.0 24 6 2 2565 1000 R vhHY
5 HE RIS PR AXER (o EE) | Him2 1.700 7.700 1.600 0.800] 29.000
4812 #8-5(3)| REBMHRE -HE 100.0 24 6 2 2565 1000 R vhHY
5 SRS, BN AR ER (EoREA(E) | Eim2 1.400 5.600 2.500 0.800] 30.000
4813 |oto-smenan | TERBRKREWET Y AL - £mE) | 1000.0 24 2 4128 1000 HFEMLA
4 500m25k 5, BRERAOOmBLT, HhHIA Akt B (201443851 m2 0.220 1.350 1.140 2.000
4814 | oto-smonav| TERBRKREWET Y AL - EmE) | 1000.0 24 2 4128 1000 FoY 7Nanb N
4 500m251 +1000m22k . emEUF, AR (201 4E488) m2 0.220 1.350 0.820 2.000
4815  |oto-smenan| TERBRKREWET Y AL - EmE) | 1000.0 24 2 4128 1000 FoY 7Nanb N
4 1000m25LE3000m25L T, T SRS 201 480 m2 0.220 1.350 0.360 2.000
4817 |oto-seio)a |\ EHRIRIRE 1.0 4111 FHLA
1 1.5kmakilh 10ombl £ 30omaks, HHIAAKHHR (201 1 ££08) km 1.340
4818 |ot0-stio)a [\ EHRIRIRE 1.0 4111 FHEA
1 1.5kmakih 30omblE60omLT, HEHIA AN (2011 Z£585) km 1.5620
4819 |oto-stio)a [\ EMRIRIRE 1.0 4111 FHLA
1 1.5kmil_E3kmELT 10cmil_E300msk i, HEtiH AR SR (20114585 km 0.420
4820 |ot0-stio)a [\ EHRIRIRE 1.0 4111 FHLA
1 1.5kmil_E3kmEL T 30cmbl E60omL T, HEHRAX R (20114585 km 0.820
4822 |#£8-10(6) [ESkMEET 656.0 24 6 2 4824 1000
5 BRI b YR R (IR B AE 20t m2 1.000 1.000 1.000 1.000 1.000
4823 |#£8-10(6) [ sktisET 701.0 24 6 2 4824 1000
5 BRI b YR R (BIRIA(E) B BE 20t m2 1.000 1.000 1.000 1.000 1.000
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4824 |#£8-10-(6)3)| /Ny IRD (HVO—F B ) BELIF B 1.0 13 99 2459 IEEEE
3 VLTBO.BrA(ST A0 6ri) 7 AR (201 44558 1. 22291 =] 1.000| 119.000 1.060
4825 |oto-sm720) |l FEFaZE L AR E - X 10.0 2741 2742 2
3 450+ 1500mm, A48, X B, WM3N, PPEEE ZN 10.000]{ 10.000 0.300
4826 |o10-zmonar| TERBINEGRE (CE@EmE) 1000.0 24 2 4128 1000 HFEMLA
4 1.000m241,E3.000m2 51T QoML S RSB 201 4554980) m2 0.130 0.290 0.310 2.000
4836 (B&fRER{ET)
4837 011-1|BFIEL 1000.0 2 4082
2 TG —H3 T IR E (B REAE(E) m3 1.400 3.400
4838 011-2|BEE % IE (3EIHED 1.0 4082
1 TG —H3 T PR E (B REAE(E) km 1.020
4840 011-3|KRE(RIF) 1.0 2 4100
2 HE km 0.040 0.200
4841 011-3|BRE(ER) 1.0 2 4100
2 HE km 0.050 0.290
4842 011-3|BRE(RE) 1.0 2 4100
2 HE km 0.070 0.400
4844 | 011-4(4)|RIBEE w-wEL 100.0 2 4030
2 /S0 ABMHCIA—ILE). B HAR BT (2K AN m 0.160 0.680
4845 | 011-4(4)|RIB=EME ML e+ 100.0 2 4030
2 /S50 4BMBRLCRA—ILE). BHH AR B (2 KA m 0.160 0.730
4856 (R EnEE)
4857 |ot0-stfxa2(1) | 2Bt B 34cm Lt (N#F) 53 4956
1 10m3/ha E#13E0.2m352 m3 1.000
4858 |o10-stfx2(1) | B4 E 34cm E(N#F) 54 4956
1 20m3/ha E#3E0.2m33z m3 1.000
4859 |o10-stfx2(1) | B4 E 34cm E(N#F) 55 4956
1 30m3/ha E#3E0.2m33z m3 1.000
4860 |o10-stfx2(1) | 2Bt B 34cm Lt (N#F) 5.6 4956
1 40m3/ha E#3E0.2m33z m3 1.000
4861 |o10-stfx2(1) | 2Btk B 34cm Lt (N#F) 5.8 4956
1 50m3/ha E+1§E0.2m33i m3 1.000
4862 |o10-stfx2(1) |28t E 34cm Lt (N#F) 6.6 4956
1 100m3/ha E#FH0.2m3iz m3 1.000
4863 |o10-stfx2(1) | 2Bt E 34cm Lt (N#F) 7.3 4956
1 150m3/ha E#FH0.2m3iz m3 1.000
4864 |o10-stfx2(1) | 2Bt E 34cm E(N#F) 8.1 4956
1 200m3/ha #E#1380.2m33i% m3 1.000
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4865 |010-stia(n)| 2848 34cm Lk (N#) 89 | 4956
1 |250m3/ha BEHIE0.2m35E m3 1.000
4866 | 010-stima(n)| 284 34cm L (NH) 98 | 4956
1 |250m3/hat8 E#30.2m33E m3 1.000
4868 |o010-stima()| 284 A 34cm Lk (NK) 81 | 4956
1 |10m3/ha EHIE0.4m3E m3 1.000
4869 |010-stima()| 284 A 34cm Lk (NK) 83 | 4956
1 |20m3/ha EHIE0.4m3E m3 1.000
4870 |o010-stima()| 2848 34cm L (N#) 84 | 4956
1 |30m3/ha EHIE0.4m3E m3 1.000
4871 |o10-stima()| 2848 34cm L (NK) 86 | 4956
1 |40m3/ha EHIE0.4m3E m3 1.000
4872 |o10-stima()| 2848 34cm L (N#) 88 | 4956
1 |50m3/ha EHIE0.4m3E m3 1.000
4873 |o10-stima()| 2848 34cm L (NH) 90 | 4956
1 |100m3/ha BEHIE0.4m3iE m3 1.000
4874 |o10-stma()| 2848 34cm L (NH) 108 | 4956
1 |150m3/ha EHIE0.4m3sE m3 1.000
4875 |o010-stima()| 2848 34cm L (NH) 119 | 4956
1 |200m3/ha EHIE0.4m3iE m3 1.000
4876 | 010-stima(n)| 2848 34cm L (NH) 130 | 4956
1 |250m3/ha BHIE0.4m3iE m3 1.000
4877 |o10-stima()| 2848 34cm L (N#) 141 | 4956
1 |250m3/hat8 E#430.4m3iE m3 1.000
4879 |o10-stima()| 2848 34cm L (NH) 104 | 4956
1 |10m3/ha EHIE0.6m3iE m3 1.000
4880 |o010-stima(n)| 284 34cm L (NH) 106 | 4956
1 |20m3/ha BEHIE0.6m3iE m3 1.000
4881 |o010-stima()| 2848 34cm L (N#) 108 | 4956
1 |30m3/ha EHIE0.6m3iE m3 1.000
4882 |o010-stima(n)| 2848 34cm L (NK) 110 | 4956
1 |40m3/ha BEHIE0.6m3iE m3 1.000
4883 |o010-stima(n)| 2848 34cm L (N#) 113 | 4956
1 |50m3/ha EHIE0.6m3iE m3 1.000
4884 |010-stima()| 28428 34cm L (NH) 125 | 4956
1 |100m3/ha EHIE0.6m35E m3 1.000
4885 |o010-stima()| 284 A 34cm L (NH) 136 | 4956
1 |150m3/ha EHIE0.6m35E m3 1.000
4886 |010-stima(n)| 284 A 34cm L (NK) 149 | 4956
1 |200m3/ha EHIE0.6m3iE m3 1.000
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4887 |o010-stima(n)| 28488 34cm L (N#) 162 | 4956
1 |250m3/ha BEHIE0.6m35E m3 1.000
4888 |o010-stima(n)| 28488 34cm L (NH) 175 | 4956
1 |250m3/hat8 &E#4380.6m3i m3 1.000
4890 |o010-stima(n)| 284k A 34cm L (NH) 123 | 4956
1 |10m3/ha EHIE0.8m3E m3 1.000
4891 |o010-stima(n)| 2848 34cm L (NH) 126 | 4956
1 |20m3/ha EHIE0.8m3E m3 1.000
4892 |o010-stima()| 2848 34cm L (N#) 129 | 4956
1 |30m3/ha EHIE0.8m3E m3 1.000
4893 |o010-stima()| 2848 34cm L (N#) 132 | 4956
1 |40m3/ha BEHIE0.8m3E m3 1.000
4894 | o010-stima()| 2842 A 34cm L (NH) 134 | 4956
1 |50m3/ha EHIE0.8m3iE m3 1.000
4895 |010-stima(n)| 28488 34cm L (NH) 148 | 4956
1 |100m3/ha BEHIE0.8m35E m3 1.000
4896 | 010-stima(n)| 284 A 34cm Lk (N#) 161 | 4956
1 |150m3/ha EHIE0.8m35E m3 1.000
4897 |o010-stima(n)| 2848 34cm L (N#) 175 | 4956
1 |200m3/ha EHIE0.8m35E m3 1.000
4898 |o010-stima(n)| 28428 34cm Lk (NH) 189 | 4956
1 |250m3/ha EHIE0.8m3iE m3 1.000
4899 |o010-stima()| 2842 34cm L (NH) 204 | 4956
1 |250m3/hat8 #E#4380.8m3iE m3 1.000
4901 | o10-seiman)| 24 34om £ (L) 86 | 4956
1 |10m3/ha EHIE0.2m3iE m3 1.000
4902 |o10-stimacn)| B4 A 34om £ (L) 88 | 4956
1 |20m3/ha EHIE0.2m3E m3 1.000
4903 |o10-stima(n)| &4 34om Lt (L) 89 | 4956
1 |30m3/ha EHIE0.2m3iE m3 1.000
4904 |o10-seimacn)| B4 A 34om £ (L) 9.1 | 4956
1 |40m3/ha BEHIE0.2m3iE m3 1.000
4905 |o10-stima)| L&A 34om £ (L) 93 | 4956
1 |50m3/ha EHIE0.2m3iE m3 1.000
4906 | o010-stian)| B4 A 34om £ (L) 106 | 4956
1 |100m3/ha BEHIE0.2m35E m3 1.000
4907 |o10-seimacn)| &4 A 34om £ (L) 117 | 4956
1 |150m3/ha BEHIE0.2m35E m3 1.000
4908 |o10-stima(n)| &4 A 34om £ (L) 130 | 4956
1 |200m3/ha BEHIE0.2m35E m3 1.000
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4909 | o10-stia)| 24 A 34em Lt (L) 143 | 4956
1 |250m3/ha EHIE0.2m3sE m3 1.000
4910 |o10-seimacn)| &4 A 34om £ (L) 157 | 4956
1 |250m3/hat8 E#30.2m3iE m3 1.000
4912 |o10-stimac)| 224 A 34om £ (L) 123 | 4956
1 |10m3/ha EHIE0.4m3E m3 1.000
4913 | o10-seiman)| 224 A 34om £ (L) 126 | 4956
1 |20m3/ha EHIE0.4m3E m3 1.000
4914 | o10-stimac)| 224 A 34om £ (L) 128 | 4956
1 |30m3/ha EHIE0.4m3E m3 1.000
4915 | o10-seimac)| £ &4 A 34om Lt (L) 131 | 4956
1 |40m3/ha BEHIE0.4m3E m3 1.000
4916 | 010-stima()| L4 34om £ (L) 134 | 4956
1 |50m3/ha EHIE0.4m3E m3 1.000
4917 |o10-seimacn)| 24 34om £ (L) 150 | 4956
1 |100m3/ha BEHIE0.4m3iE m3 1.000
4918 | o10-stima()| 224 A 34om £ (L) 164 | 4956
1 |150m3/ha BEHIE0.4m3iE m3 1.000
4919 | o10-stimac)| £ %4 A 34om Lt (L) 181 | 4956
1 |200m3/ha BEHIE0.4m3sE m3 1.000
4920 |o10-stimacn)| 24 34om £ (L) 197 | 4956
1 |250m3/ha EHIE0.4m3sE m3 1.000
4921 | o10-seimacn)| £ B4 A 34om £ (L) 215 | 4956
1 |250m3/hat8 E#430.4m3iE m3 1.000
4923 |o10-seimac)| L4 A 34om £ (L) 152 | 4956
1 |10m3/ha EHIE0.6m3iE m3 1.000
4924 | o10-stimac)| 224 A 34om £ (L) 156 | 4956
1 |20m3/ha BEHIE0.6m3iE m3 1.000
4925 |o10-stimacn)| B4 A 34om £ (L) 159 | 4956
1 |30m3/ha EHIE0.6m3iE m3 1.000
4926 | o010-stima()| £ B4 34om £ (L) 162 | 4956
1 |40m3/ha EHIE0.6m3iE m3 1.000
4927 |o10-seimac)| B4 34om £ (L) 166 | 4956
1 |50m3/ha EHIE0.6m3iE m3 1.000
4928 | o010-stimac)| £ B4 A 34om £ (L) 184 | 4956
1 |100m3/ha EHIE0.6m35E m3 1.000
4929 |o10-stimacn)| L&A 34om Lt (L) 200 | 4956
1 |150m3/ha BEHIE0.6m35E m3 1.000
4930 |o10-stima(n)| B4 34om £ (L) 219 | 4956
1 |200m3/ha EHIE0.6m35E m3 1.000
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4931 |o10-seima)| £ &4 A 34om Lt (L) 238 | 4956
1 |250m3/ha BEHIE0.6m3iE m3 1.000
4932 |o10-stimacn)| £ B4 A 34om Lt (L) 258 | 4956
1 |250m3/hatd #E#4380.6m3i m3 1.000
4934 |o10-stimac)| £ %4 A 34om £ (L) 177 | 4956
1 |10m3/ha BEHIE0.8m3E m3 1.000
4935 |o10-stiman)| 284 A 34om Lt (L) 181 | 4956
1 |20m3/ha BEHIE0.8m3E m3 1.000
4936 | 010-stima()| B4 A 34om Lt (L) 185 | 4956
1 |30m3/ha EHIE0.8m3E m3 1.000
4937 |o10-seimacn)| B4 A 34om Lt (L) 189 | 4956
1 |40m3/ha EHIE0.8m3E m3 1.000
4938 | o010-stima()| £ B4 A 34om £ (L) 193 | 4956
1 |50m3/ha EHIE0.8m3E m3 1.000
4939 | o10-stima(n)| £ B4 A 34om £ (L) 212 | 4956
1 |100m3/ha EHIE0.8m3iE m3 1.000
4940 |o10-stima()| £ %4 A 34om Lt (L) 231 | 4956
1 |150m3/ha EHIE0.8m35E m3 1.000
4941 | o10-seimac)| £ %4 A 34om £ (L) 251 | 4956
1 |200m3/ha EHIE0.8m3iE m3 1.000
4942 |o10-seimac)| 2248 34om £ (L) 271 | 4956
1 |250m3/ha EHIE0.8m35E m3 1.000
4943 | o10-stima0)| 224 34om £ (L) 293 | 4956
1 |250m3/hat8 #E#4380.8m3iE m3 1.000
4945 |o10-seia0)| k%% B ATHAIS5-6~10t% | 185 | 4098 | 2955 R
2 |NLiAZ EHEEY0.2m3sE m3 1,000 18500
4946 |o10-seia()| A% E B ATHAIS5-6~10t% | 227 | 4098 | 2955 R
2 |NLiAZ EHEEY0.4m3sE m3 1,000 22.700
4947 |ot0-seiac)| k%% st AT HAIS5-6~10t8% | 256 | 4098 | 2955 R
2 NLiAZ EHEEY0.6m3sE m3 1,000 25600
4948 |o10-seia0)| k%% Bt ATHAIS5-6~10t% | 27.8 | 4098 | 2955 PR
2 |NLiA% EHEEY0.8m3sE m3 1.000| 27.800
4949 |o10-seimac)| k%% Bt AT HAIS5-6~10t% | 297 | 4098 | 2955 R
2 |NLiA% EHEEY1.0m3sE m3 1,000 29.700
4950 |o10-seia)| k%% sb AT HAIS5-6~10t% | 314 | 4098 | 2955 R
2 NLiAZ EHEY1.2m3sE m3 1.000| 31.400
4951 |o10-seiac)| k%% st AT HAIS5-6~10t% | 329 | 4098 | 2955 R
2 NLiAZ EHEY1.4m3sE m3 1,000 32.900
4952 |o10-seiac)| k%% st AT HAIS5-6~10t% | 342 | 4098 | 2955 R
2 INLA. EHEY1.6m3iE m3 1000| 34200
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4953 |o010-seira()| k%% B ATHANS5-6~10t8% | 354 | 4098 | 2955 IS
2 NLiA% EHEEY1.8m3sE m3 1.000| 35.400

4954 |o10-seia0)| k%% Bt AT HAIS5-6~10t% | 365 | 4098 | 2955 R
2 NLiAZ EHEEY2.0m3iE m3 1.000| 36500

4956 HiERE 10 | 2957 | -2611 | 1000 | 2601
4 |Fzou—an B 1000 5000| 48000| 1.000

4958 HA LMY T 2 10 | 2633
1 |kO®13emki m3 | 68900

4959 HASHIYINT 2 10 | 2634
1 |Ea®i3emil £ 200m%EsE m3 | 39.200

4960 NARHINTE 10 | 2633
IER= I m3 | 68900

4961 NARHINTE 10 | 2634
1 |Eo®i3emilE200m%Es m3 | 39200

4963 | nrsswmmmon | B ASLER (Hef81) 1000 1 2 1000 &
3 |THmEEEOmEH * 0230 0230 6.000

4964 | arsswmmmon | B ASLER (Hef8) 1000 1 2 1000 &
3 |TmEER10cmbl 1 6ensk s & 0320 0320] 6.000

4965 | arsswmmmon | B ASLER (Hef81) 1000 1 2 1000 &
3 | TmEER6ombl 22k & 0420 0420| 6.000

4966 | nrsswmmmon | ASLER (Hef81) 1000 1 2 1000 &
3 | TmmEER22cmbl Lt 28cnsk & 0520| 0520| 6.000

4967 | wrsswmmmon | B ASLER (Hef81) 1000 1 2 1000 &
3 |TmEEE28mul b * 0.630] 0630 6.000

4969 | nrsswmmmon | B ASLIR (EHA) 1000 1 2 1000 &
3 |THmEEEOmEH * 0.210] 0210 8000

4970 | wrssommmon | B ASLER (EHA) 1000 1 2 1000 &
3 |TmEER10cmbl 1 6ensk s & 0.240| 0240|8000

4971 | wrssommmos | AKLER (EHA) 1000 1 2 1000 &
3 | TmEER6ombl 22k & 0280 0280 8000

4972 | oo mmmos | B ASLER (EHA) 1000 1 2 1000 &
3 | TmmEER22cmbl Lt 28cns & 0310] 0310|8000

4973 | wrsswmmmon | AKLER (EHA) 1000 1 2 1000 &
3 |TmEmEE28mul b * 0350 0350 8.000

4975 | wrsswmmmon | B AR (A 1000 2 1000 &
2 IS EE 1 OcmkE X 0.300 1.000

4976 | wrsswmmmon | B AR (KA 1000 2 1000 &
2 | TmaEE R 0cmbl 1 6ok * 0390 1.000

4977 | wroswmmmon | B AR (KA 1000 2 1000 &
2 | EmEER6embl 22 * 0510]  1.000
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4978 | sirssusmon| R ARIIER () 100.0 2 1000 BE
2 I EER22emEL E28cm K Z:N 0.620 1.000
4979 | siossusmon| R ARIER () 100.0 2 1000 BE
2 THEEE28embl b Z:N 0.710 1.000
4981 [REEEM KA T]
4982 |#£4-3-1M2)|BILZILOD) MRS HIBEL IR E 1.0 2387
1 - E—428KE) 0.8~1.2m3/h isaE] 1.000
4983 | #4-3-1(7)2)| 2K EMEHEEEERE REEREMRAT) 1.0 99 2503 R, (BMEHEREEE)
2 B AR EFR AW T D> 105~11.0m3/min =] 81.000 1.710
4984 |34-3-172)| BB R EREETEEEM KA T) 1.0 99 2534 EE. (REEHBIEEEE)
2 BEH AR ER T —PIL TS EREAEKVA =] 36.000 1.710
4985 | #4-3-1(1)1)|KEEEM AT T (R8BI %) 100.0 24 5 1 2 4982 4983 4984 1000
8 [E&3cm~6emkiE m2 1.600 5.100 0.900 3.000 4.600 0.700 1.300[ 26.000
4986 05-12| EBEMMBE(TYRVAIL) 100.0 1256 1263 1262 1088 2614 1104
6 [E&3cm m2 0.100 0.400 0.400 4.680| 15.000[ 15.000
4987 05-12| EBEMMBE(TYRVAIL) 100.0 1256 1263 1262 1088 2614 1104
6 E&5cm m2 0.100 0.400 0.400 7.800] 25.000[ 25.000
4988 |s4-s-1.05-12| EBEMKA T (MHEED) 1.0 4985 4986 B
2 EZ3em(TykyAIL) m2 1.000 1.300
4989 |s4-s-1.05-12| EBEMKA T (MEEED) 1.0 4985 4987 B
2 EZ5em(yRyAIL) m2 1.000 1.300
5000 | 05-1(9M |2~ —b A TIF T84+ 1.0 2627
1 {EEH*E30% m3 0.300
5003 | 0519 | = AT7—FXHBET 10.0 5000 2 1000
3 $2000mm X R1500mm m 1.508 3.300| 10.000
5004 | O05-1(9M | AN = AT7—FXZBET 10.0 5000 2 1000
3 §2300mm X R1650mm m 1.568 3.900| 10.000
5005 | O5-1(9M | AT = AT7—FXHBET 10.0 5000 2 1000
3 §2700mm X R1800mm m 1.649 4.500| 10.000
5006 | O5-1(9M | AN = AT7—FXHBET 10.0 5000 2 1000
3 $3000mm X R1950mm m 1.710 4.900| 10.000
5007 | O5-1(9M | = AT7—FXHBET 10.0 5000 2 1000
3 §3700mm X R2250mm m 1.852 6.000] 10.000
5008 | 05-1(9M | AN = AT7—FXZBET 10.0 5000 2 1000
3 S4400mm X R2600mm m 1.994 7.100| 10.000
5009 | 05-1(9M | AT = AT7—FXZHET 10.0 5000 2 1000
3 §$5100mm X R2900mm m 2.136 8.400| 10.000
5010 | O6-1(9M | AN = AT7—FXHBET 10.0 5000 2 1000
3 S$5800mm X R3200mm m 2.277 9.600| 10.000
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5012 |05-19)0() |2 —hEPEEEH 10.0 2852 2 Toh—EVRI&ET £

2 ¢ 600mm t=1.6mm(Fh—EBlkEt F) m 10.000 1.600
5013 |05-1(9)0() |2 —hEEEEH 10.0 2853 2 Toh—EVRI&ET £

2 ¢ 800mm t=1.6mm(Fh—EBl&Et ) m 10.000 2.500
5014 | 05-109)09(7) |2 T —hEPEEEH 10.0 2854 2 ToHh—EVRI&ET £

2 ¢ 1000mm t=2.0mm(7h—EV RIS ) m 10.000 2.800
5015 |05-1(9)(7) |2 T —hEPEEEH 10.0 2855 2 Toh—EVRI&ET £

2 ¢ 1200mm t=2.0mm(7Zh—EV RIS ) m 10.000 2.800
5016 | 05-1(9)9(7) |2 —hEPEEH 10.0 2856 2 Toh—EVRI&ET £

2 ¢ 1350mm t=2.7mm(7Zh—EV RIS ) m 10.000 3.400
5017 |05-109)0(7) |2 F—hEPEEEH 10.0 2857 2 Toh—EVRI&ET £

2 ¢ 1500mm t=2.7mm(7Zh—EV RISt ) m 10.000 3.700
5018 | 05-1(9)u(N) |7V h—EVEE 10.0 2859 2 A¥=L+1.02x2+2

2 ¢ 13mm L=1000mm N 10.000 0.300
5020 VG =N ATT7—F RN 10.0 2 ILEERMEERORESH

1 $2000mm R1500mm t=2.7mm (&4 Bl2) m 22.500 NYRVTEET MRBERIRET E
5021 LG =M AT7—F RN 10.0 2 ILEERMEERORESH

1 $2000mm R1500mm t=3.2mm (&4t Bl2) m 22.500 NYRVTEET MRBERIRETE
5022 VG =N AT 7 —F RN 10.0 2 ILEERMEERORESH

1 $2000mm R1500mm t=4.0mm (&4 Bl2) m 27.500 NYRVTEET MRBERIRET E
5023 LG = AT7—F RN 10.0 2 ILEERMEERORESH

1 $2000mm R1500mm t=4.5mm (&4 Bl2) m 27.500 NYRVTEET MRBERIRET E
5024 = AT 7 —F R 10.0 2 5087 TEEFMEERDRELHE

2 $2000mm R1500mm t=5.3mm (& # Bil) m 27.500|  7.800 Ny TEET HNBERIRETE
5025 = AT 7 —F R+ 10.0 2 5087 TEEFMEERDRELSE

2 $2000mm R1500mm t=6.0mm (& # Bil) m 31.200]  9.000 Ny TEET HNBERIRETE
5026 WG =TT —F A 10.0 2 5087 TEEFMEERDRELHE

2 $2000mm R1500mm t=7.0mm (&4 Bl%) m 34.600] 10.500 YRV TEET MRBERIRET E
5028 VG =N AT 7 —F RN 10.0 2 IEERMEERORESH

1 $2300mm R1650mm t=2.7mm (&4 Bl2) m 27.000 NYRVTEET MRBERIRET E
5029 LG = AT7—F RN 10.0 2 ILEERMEERORESH

1 $2300mm R1650mm t=3.2mm (&4 Bl2) m 27.000 NYRVTEET MRBERIRET E
5030 VG =M AT7—F RN 10.0 2 IEERMEERORESH

1 $2300mm R1650mm t=4.0mm (&4 Bl2) m 33.000 NYRVTEET MRBERIRET E
5031 A=A TT7—F B 10.0 2 ILEERMEERORESH

1 $2300mm R1650mm t=4.5mm (&4 Bl2) m 33.000 NYRVTEET MRBERIRETE
5032 WG =TT —F TR 10.0 2 5087 TEEFMEERDRELSE

2 $2300mm R1650mm t=5.3mm (& # Bl%) m 33.000]  9.500 NyRTEET HNBERIRETE
5033 T = AT 7 —F R 10.0 2 5087 TEEFMEERDRELSE

2 $2300mm R1650mm t=6.0mm (&4t Bl2) m 37.900] 11.000 NV TEET MRBERIRET E
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5034 = AT 7 —F R+ 10.0 2 5087 TEEFMEERDRELHE

2 $2300mm R1650mm t=7.0mm (& # Bl%) m 42.100| 12.900 NyFVTEEL MBEERIRET E
5036 G = A T7 —F AR 10.0 2 EERMNEERORESH

1 $2700mm R1800mm t=2.7mm (& # Bl) m 32.200 NyRVTEET MRBERIRET E
5037 G = A T7 —F AR 10.0 2 EERMNEERORESH

1 $2700mm R1800mm t=3.2mm (& # Bl%) m 32.200 NYRVTEET MRBERIRET E
5038 = AT 7 —F R 10.0 2 5087 TEEFMEERORELSE

2 $2700mm R1800mm t=4.0mm (& # Bl%) m 28.800|  8.800 NyRVTEET HNBERIRETE
5039 = AT 7 —F R 10.0 2 5087 TEEFMEERDRELSE

2 $2700mm R1800mm t=4.5mm (& # Bil) m 28.800|  8.800 NyRTEET HNBERIRETE
5040 = AT 7 —F R 10.0 2 5087 TEEFMEERDRELSE

2 $2700mm R1800mm t=5.3mm (& # Bil%) m 35.600| 12.600 NyFVTEEL MMEERIRET E
5041 = AT 7 —F R+ 10.0 2 5087 TEEFMEERORELHE

2 $2700mm R1800mm t=6.0mm (& #Bil) m 40.900| 14.600 NyFVTEEL MHEERIRET E
5042 = AT 7 —F R+ 10.0 2 5087 TEEFMEERDRELSE

2 $2700mm R1800mm t=7.0mm (& # Bl%) m 44.200| 16.100 NyFVTEEL MHEERIRET E
5044 VG = A T7 —F AR 10.0 2 LEERMNEERORESH

1 $3000mm R1950mm t=2.7mm (& # Bil) m 33.100 NYRVTEET MRBERIRETE
5045 VG = A T7 —F AR 10.0 2 LEERMNEERORESH

1 $3000mm R1950mm t=3.2mm (& # Bil%) m 33.100 NYRVTEET MRBERIRET E
5046 = AT 7 —F R 10.0 2 5087 TEEFMEERDRELHE

2 $3000mm R1950mm t=4.0mm (& # Bil) m 29.500]  9.100 NyRTEET HNBERIRETE
5047 = AT 7 —F R 10.0 2 5087 TEEFMEERDRELHE

2 $3000mm R1950mm t=4.5mm (& # Bil%) m 29.500]  9.100 Ny TEET HNBERIRETE
5048 = AT 7 —F R+ 10.0 2 5087 TEEFMEERDRELSE

2 $3000mm R1950mm t=5.3mm (& # Bil%) m 36.600| 13.000 NyFVTEEL MHEERIRET E
5049 = AT 7 —F R 10.0 2 5087 TEEFMEERDRELHE

2 $3000mm R1950mm t=6.0mm (& # Bil) m 41.700| 15.000 NyFVTEEL MHEERIRET E
5050 = AT 7 —F R 10.0 2 5087 TEEFMEERORELSE

2 $3000mm R1950mm t=7.0mm (& # Bl%) m 45.100| 16.400 NyFVTEEL MHEERIRET E
5052 NG = A T7 —F AR 10.0 2 LEERMNEERORESH

1 $3700mm R2250mm t=2.7mm (& # Bl%) m 39.200 NYRVTEET MRBERIRET E
5053 NG = A T7 —F AR 10.0 2 LEERMNEERORESH

1 $3700mm R2250mm t=3.2mm (& # Bil%) m 39.200 NYRVTEET MRBERIRET E
5054 = AT 7 —F R+ 10.0 2 5087 TEEFMEERDRELHE

2 $3700mm R2250mm t=4.0mm (& # Bl5%) m 34.900| 10.900 NyFVTEEL MHEERIRET E
5055 = AT 7 —F R+ 10.0 2 5087 TEEFMEERDRELSE

2 $3700mm R2250mm t=4.5mm (& # Bl%) m 34.900| 10.900 RNyFVTEEL MBEERIRET E
5056 T = AT 7 —F R 10.0 2 5087 TEEFMEERDRELSE

2 $3700mm R2250mm t=5.3mm (& # Bil%) m 43.400| 15.600 NyFVTEEL MHEERIRET E
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5057 = AT 7 —F R+ 10.0 2 5087 TEEFMEERDRELHE

2 $3700mm R2250mm t=6.0mm (& #Bil%) m 49.500] 17.900 ST ESD MRBERIRET
5058 T = AT T7—F R 10.0 2 5087 TEEFMEERDRELSE

2 $3700mm R2250mm t=7.0mm (&4 Bll%) m 53.600[ 19.700 YRV TEET MRBERIRET E
5060 = AT 7 —F R 10.0 2 5087 TEEFMEERDRELHE

2 $4400mm R2600mm t=2.7mm (& # Bl%) m 35.000] 10.400 ISYEUTEESD MRBERIRETE
5061 = AT 7 —F R 10.0 2 5087 TEEFMEERORELSE

2 $4400mm R2600mm t=3.2mm (& # Bil%) m 35.000] 10.400 ST EESD MRBERIRET
5062 = AT 7 —F R 10.0 2 5087 TEEFMEERDRELSE

2 $4400mm R2600mm t=4.0mm (& # Bl) m 40.500] 15.600 ST EESD MRBERIRETE
5063 = AT 7 —F R 10.0 2 5087 TEEFMEERDRELSE

2 S4400mm R2600mm t=4.5mm (&4 Bl2) m 40.500] 15.600 YRV TEET MRBERIRET E
5064 = AT 7 —F R+ 10.0 2 5087 TEEFMEERORELHE

2 $4400mm R2600mm t=5.3mm (&4 Bl2) m 47.500| 20.800 YRV TEET MRBERIRET E
5065 = AT 7 —F R+ 10.0 2 5087 TEEFMEERDRELSE

2 $4400mm R2600mm t=6.0mm (& # Bil2) m 54.200 23.900 ISYEUTEESD MRBERIRET
5066 = AT 7 —F R 10.0 2 5087 TEEFMEERDRELSE

2 $4400mm R2600mm t=7.0mm (Z# Bl%) m 60.100| 25.400 ISYETEESD MRBERIRET
5068 = AT 7 —F R 10.0 2 5087 TEEFMEERORELSE

2 $5100mm R2900mm t=2.7mm (&4t Bll2) m 36.300| 10.800 YRV TEET MRBERIRET E
5069 = AT 7 —F R 10.0 2 5087 TEEFMEERDRELHE

2 $5100mm R2900mm t=3.2mm (& #Bil%) m 36.300| 10.800 ST EESD MRBERIRETE
5070 = AT 7 —F R 10.0 2 5087 TEEFMEERDRELHE

2 $5100mm R2900mm t=4.0mm (& #Bil) m 42.000] 16.200 ST EESD MRBERIRET
5071 = AT 7 —F R+ 10.0 2 5087 TEEFMEERDRELSE

2 $5100mm R2900mm t=4.5mm (& #Bl%) m 42.000] 16.200 ISYEUTEESD MRBERIRETE
5072 = AT 7 —F R 10.0 2 5087 TEEFMEERDRELHE

2 $5100mm R2900mm t=5.3mm (&4t Bll2) m 49.300] 21.600 YRV TEET MRBERIRET E
5073 = AT 7 —F R 10.0 2 5087 TEEFMEERORELSE

2 $5100mm R2900mm t=6.0mm (&4t Bll2) m 55.800[ 24.600 YRV TEET MRBERIRET E
5074 = AT 7 —F R 10.0 2 5087 TEEFMEERDRELHE

2 $5100mm R2900mm t=7.0mm (&4t Bl2) m 61.800| 26.200 YRV TEET MRBERIRET E
5076 = AT 7 —F R+ 10.0 2 5087 TEEFMEERDRELHE

2 $5800mm R3200mm t=2.7mm (&4 Bl) m 41.000] 12.300 NV TEET MRBERIRET E
5077 = AT 7 —F R+ 10.0 2 5087 TEEFMEERDRELHE

2 $5800mm R3200mm t=3.2mm (&4 Bl2) m 41.000] 12.300 YRV TEET MRBERIRET E
5078 = AT 7 —F R+ 10.0 2 5087 TEEFMEERDRELSE

2 $5800mm R3200mm t=4.0mm (& # Bil) m 47.400| 18500 ISYEUTEESD MRBERIRET
5079 T = AT 7 —F R 10.0 2 5087 TEEFMEERDRELSE

2 $5800mm R3200mm t=4.5mm (&4t Bl2) m 47.400] 18500 NV TEET MRBERIRET E
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5080 = AT 7 —F R+ 10.0 2 5087 TEEFMEERDRELHE

2 $5800mm R3200mm t=5.3mm (&4t Bl2) m 55.700[ 24.600 YRV TEET MRBERIRET E
5081 T = AT T7—F R 10.0 2 5087 TEEFMEERDRELSE

2 $5800mm R3200mm t=6.0mm (&4t Bl2) m 63.200] 28.100 YRV TEET MRBERIRET E
5082 = AT 7 —F R 10.0 2 5087 TEEFMEERDRELHE

2 $5800mm R3200mm t=7.0mm (&4 Bll%) m 70.000| 29.800 YRV TEET MRBERIRET E
5084 & AN THAN - FBAF(1005) 10.0 2 4166 TEEFMEERORELSE

2 B&0.5m x #81.0m (GEFH4.75m3/10mBl2) m 0.810 0.230
5085 & AN TH - FBAF (1208) 10.0 2 4166 TEEFMEERDRELSE

2 B&0.5m x #81.2m (5EF5.70m3/10mBl%) m 0.970 0.280
5087 NI IL—BERE 1.0 13 99 2228 T=620/100=6.2 1/T=1/6.2=0.16 A

3 [hEM#ESTR 40tH i 0.160| 4.800] 1.000 107kW > 0.0450/kW/h=4.81=4.80
5089 | 05-1(9)7 [an’—r 17 ¢ 600mm t=1.6mm 10.0 707 2

2 A ARY0.6~9.0m m 10.000 2.600
5090 | 05-1(9)7 [’ —r 17 ¢ 600mm t=2.0mm 10.0 708 2

2 TAARYI.1~10.5m m 10.000 2.600
5091 05-1(9)7 |ans—r a7 $600mm t=2.7mm 10.0 709 2

2 TAARY10.6~15.0m m 10.000 2.600
5092 | 05-1(9)7 [an’—r 147 ¢ 600mm t=3.2mm 10.0 710 2

2 THAARY15.1~18.0m m 10.000 2.600
5094 SAIAA HedTHAL - #B 4 (1008) 10.0 2 4166

2 %X0.5m x 181.0m (357 4.75m3/ 10ml5%) m 0.810| 0.230 IEEEMREEBORESH
5095 SAIAA HedTHL - #B 4 (1208) 10.0 2 4166

2 #X0.6m x 81.2m (3E%5.70m3/10mBl5%) m 0.970| 0.280 ILEERMEERORESE
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